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The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected| Sold | Number | Rejected | Sold

(n lakh) (%) (%) |(inlakh)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 2 76
5 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 31 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330727936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 5330727937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

(3) 72

4) 75

Options :

1.1

2.2

3.3

4.4

Question Number : S Question Id : 5330727939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactlly _ companies.

e,
2)
()
4)
Options :
1.1

2.2

3.3

4.4

Ul o= W R

Question Id : 5330727934 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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e arferert # | =1 ufi (A-G) gR1 = 2022 9 99 2023 § Seifed @l & Sl 1 S (A W),
LR W & Sl o1 favra i Safal R o T Ee 3 Sl o 9fae (%) fomn man g1 aifes § uew e
% SR W, AN F WA F I Sl |

e & el R shuAT-are faeror
ay 2022 aef 2023
P FE=T |ardled| Rt | I |ardleal (it

(Fra#A)|[ (%) (%) (=) | (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727935 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUA C g ad 2022 ¥ 2023 H Ierfed @a % S W ufowd afg fead &2
(1) 15375 %
(2) 20625 %
(3) 15.625 %
(4) 10625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 5330727936 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g o9 2022 ¥ 2023 B o9 T WA F 5l § foFer wfove Ifg g ®7?
1 12%

(2 25%

(B) 15 %
(@4) 20 %
Options :
1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 5330727937 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ad 2022 # 9t Fufai T T STeeiFa Be F Sal B o e fhal § 72
(1) 835000

(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727938 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft Fufal grn ad 2023 # faskt fFre U B@ F 6 F T g 35 g9 § 9 wufral g senfea

oA F el 1 FHe WS FHI TR % B
(1) 84
2 79
(@) 72
(4) 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330727939 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 2022 | 2023 H A F 9di o 3 ¥ g8 ulave gig StF-Si FYfTdi o e 25 % 9
e 2
1 2
(2 3
@) 4
(4) 3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072315
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330727940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and pmblem solving achvities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom
(3) Asynchronous learning
(4) Synchronous learning
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 5330727940 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forere wa fafore fawg & oo & fom faenfe=i = samem ged gd # fere fFu o sifed ea | w
o o fore 3 ® 3 3Hek ag e | Feiel au Sue- g iatatdl § Sifod s 1 98 fege
e IR0 & ?

(1) =rEA freeE

(2) el e (fHeTe Fae ®H)

(3) THEHICTE AfRTH

(4) HEFIfCTh e

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727941 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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-1 (See-Saw) ST Feg T asil § TG o F14 H Sl F SNURYT FEAWF Wi qiee F1 HHE
Hees ofae &7
(1) Tagsidifyae et
(2) YEs Figarea
(3) w@HmF oM
(4) AT (HEEHRTAYA )
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 5330727942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(1) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 5330727942 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ue T =medn © T suer faened gd # et foru o difed o1 3@ @i sifedl # wf=fea wei & s <
39 WA % T S ST (26) Halfeen 399 8 ?

(1) TEUSA

2 TR

(3) T ST

(4) I

-

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330727943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - 11
(Swayamprabha Channel No.) (Name)
(A) Channel : 04 (I) Kautilya
(B) Channel : 05 (I Vidhik
(C) Channel : 06 (Il) Prabandhan
(D) Channel : 07 (IV) Saaraswat

Choose the correct answer from the options given below :
(1) (A)-(L), (B)-(1I), (C)-(IV), (D)-()

(2 (A)-(IV), (B)-(III), (C)-(II), (D)-(T)

(3)  (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

4 (A)-(1I), (B)-(IV), (O)-(I), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 5330727943 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel-1 9 gHi-11 =1 fers wifs
Hel-1 -1
( TETWT B HWEAT) (7))
(A) = : 04 () ifeea
(B) oA : 05 () Tafues
(C) = : 06 (III) TaeA
(D) =7 : 07 (IV) IR

= feu T fomredi H @ W@ I =9 HIfN
(1) (A, (B)1D), (©)-IV), (D)-(I)
(2)  (AIV), (B)~(LIL), (C)-(LD), (D)-(I)
(3)  (AD, (B)-1D), (C)-(Im), (D)-(IV)
(@) (A1, B)-1V), (O)-1), (D))
Options :
1.1
2.2

3.3
4.4

Question Number : 10 Question Id : 5330727944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students’ portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 5330727944 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST el &1 oherl H dSwiferd geais 1 wga o &1 faenfef & aieferi # fr ger gew
1 wfewfera fan ST Ay 2

(A) YUl FHeTRiaAl 1 GUE

(B) SeR! HorTcHe Wiehdl W fHamefial faiy
(C) WA qL401 ek

(D) TEReft ot gfagfie sit Enme=Ad

= feu o faspedi § 9 WaE W F =TI FIAC
(1) o (B) 3T (C)

(2) % (A), (B) #R (D)

(3) I (A) ¥R (O)

(4) A4 (C) ¥ (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330727945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 9/122
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According to UGC Regulations 2018 on Plagiarism, which of the following percentages of similarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27%
(2) 38 %
() 44 %
(4) 65 %
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330727945 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifeferss = o o) #9579, faf=ae 2018 o @R fofdl oy g § gamd & fora wfasrd o o
< 99 =i @ty o forg f.w= S, foeneft & vdasmo & favafasmera & fes =i Sfaa fear smam ?

(1) 27 gfqerd
(2) 38 wfqerd
(3) 44 gfaer
(4) 65 gfaemE

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(1) Ogive

(2) Pie charts

(3) Histogram

(4) Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727946 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/122
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frfafaa & & et fafy g % crafate fEgw & foau @ =@ % 9= g6y g9 % fau sagef e ?
(1) =rafeervl (&irsiea)

(2) €A

(3) e fae (fewnm)

(4) TomRvl UM (The wied)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to internal validity.

(A) Selection threat

(B) Maturation threat

(C) Attrition threat

(D) Testing threat

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (©) and (D) Only

) (A), (B), (© and (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727947 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siidfees e 3 wf @l i gEaE Fh
(A) =99 Hadfi TR (FaaE 92)

(B) UftvgE et Tl (FegieH 92)

(C) Heu Fae T (Tfeed 9°)

(D) Tfteor Heidlt way (=T 92)

= feu o fased § 9 W& W FH =TI FIGC
(1) =€ (A), (B) 3R ()

(2) = (B), (C) =R (D)

(3) = (A), (C) ¥R (D)

4)  (A), (B), (O) 3R (D)

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/122
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1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330727948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the datasets with the following means (% ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o0=38, x =127

(C) o=57 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
(1) (A). B), (C), (D)

(2)  (B), (O), (D), (A)

(@) (©), (D), (A) (B)

(4) (D), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 5330727948 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<q TRl &I frefafea meEt () S wFE famer (o) % @ 31E fo=wor qoiE % Hed wW § Fatted
Fifer
(A) o=43, ¥ =13.8
(B) ¢=3.8, x =12.7
(C) ¢=57 X
(D) o=4.7, X =14.1
A= fou o fased § 9 W& W FH T FIGC
(1) (A) (B), (O, (D)
2 @), (O, (D) (A)
(@) (©, (D), (A) (B)
@) (D) (A) (B), ©
Options :
1.1
2.2

3.3
4.4

=14.9

Question Number : 15 Question Id : 5330727949 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/122
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Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal (I)  Height of students
(B) Ordinal () Time of Day
(C) Interval (II) Caste
(D) Ratio (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(L), (B)-(1V), (C)-(1L), (D)-()

4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 5330727949 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i

i1 -1

(\Ta T Y ) (= T QT )
(A) e (FAfETe) () feenfeE it oo
(B) HAgTE (HAMET) () fea =1 w7
(C) 3T (1) =ifa
(D) &I (IV) H=rHl =i I

A=t feu T foepedi H 9§ W& I =4 HIW
(1) (A1), (B}-(IT), (CO)~(II), (D)-(IV)
(2) (AL, (B)-(1D), (C)-1V), (D))
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-(I)
(4) (A1), (B)-(D), (C)-(I), (D)-(I1)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 5330727950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/122
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The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 5330727950 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeAtfarer ofr o § g s = 2
(1) 9 g=e

(2 =M SFIE

(3) e ek (s fagy)

(4) Sidaa fadew

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 5330727951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular -
(1) Medium

(2) Message

(3) Noise

(4) Ideology

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 5330727951 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sfoe &9 o SER, TR ge-fauge a1 SHaer e quermed # fafe 1 Gl
(enfeheaaR) § ffor o s €1
(1) Heam

(2) W

(3) W

(4) fEa=mEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330727952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(@ (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (B), (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 5330727952 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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222 °F WY o fRg w9 ° 9viF forar s © 2
(A) wfasfea Fyrera

(B) STHWTERE YHfag™
(C) wrEYdmarT

(D) far=®

(B) seraRiieh WS

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) = (A), (B), (C)
(2) = (B), (O), (D)
(3) %= (C), (D), (E)
(4) A (A), (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 19 Question Id : 5330727953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :
1) (A), (©), B), (), D)

(2 (B),(A) ©), D) (B)

(3)  (©). (D), (E), (A), (B)

4) (D), (B), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330727953 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g o frfatad Ml & HE T HE Sl Ted FHife ;
(A) fafaa

(B) SHA-HIHA
(C) H="
(D) WERO
(E) SerehIfa

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) (A) (Q), (B), (E). (D)
(2) (B (A) (C) (D), (E)
3 ©, (E), (A), (B)
4) O (E) (A), (B), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 5330727954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II) Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©)-(1V), (D)-1)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4)  (A)-(IV), (B)-(I), (C)-(IL), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 5330727954 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11
( ST ) (Fuia)
(A) TgH TS (1) g sfveafaaal
(B) Htem waHt fagia (I) T STEHRIE G
(C) HifiEswa (III) Teel =1feRaT 9Te A o foa ore
(D) HE (FF=) (IV) SifEd | ==

= feu T fomredl H ¥ W@ I A =9 FIW
(1) (AND, (B-(I), (O, (D)-(IV)
(@ (A)-W, B-, ©-1V), D)
(3) (A1), BHIV), (O-D, 1)
(4)  (A)IV), (B)-(1), (C)-(IL), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 5330727955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

: 1
M 15
1
@ 3
(3) 4
1
@ =
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330727955 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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18/122



8/30/24, 11:19 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

(0.12 % 0.12 x 0.12) + (0.012 x 0.012 X 0.012)
(048 0,48 0.48) + (0.048 X 0,048 x 0,048) 1 17 31 PITSIC

T
T
& <
@) 4
T

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (7).
5, 14, 39, 88, 209, 7, 667
(1) 378
(2) 297
(3) 299
(4) 375
Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727956 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & T 9ol W fo=Er Fifew | w9 fag % e W e wenfg sk S Srel 9E J19 S
5, 14, 39, 88, 209, ?, 667

(1) 378
(2) 297
(3) 299
(4) 375
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330727957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are true ?
(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of § %. He sold the toy for ¥ 162

(C) A man buys a cycle for ¥ 500, but due to some problem, he sells it for ¥ 400. He thus incurs
a loss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 5330727957 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefarfaa # & #m ar/8 g g/E?

(A) Afg forHT =reg o1 fasha qed T 40 § ALY 15 % &, 1 o5 o1 @R Jed T 32§

(B) U&=l A T 150 1 Uk FEgeiia1 Eliel 3K 39 8 % HAF W o= | 394 faein #1 T 162 # o=

(C) T =Afa T500 H Uk Wrefohel Weal €, W el 0w & FR0 9% 39 T 400 H 9=l €, 3H YER
W 22 % B A €

(D) afe fordt areg =1 forrg Heg T 210 TR =1 30 % & o 39 =% o1 @Fd 464 T 300 &

v feu o faredi § 9 WE I 1 =TI FIfSU

(1) e (A)

(2) FEA (A) 3R (D)
(3) ae (B) 3N (D)
(4) = (B) 3 (O)
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp lo Co Bo”
“Patience is art of hoping” is coded as : “Po lo Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727958 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eaeil HE HHT -

“Bitter patience sweet fruit” %! “Bo Po So To” % ®4 H Feds foran 2
“Art is sweet happiness” %! “Ao lo So Ho” & €9 H Feag e S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” eI ETCEACRIRSIG] g
“Patience is art of hoping” %l “Po Io Ao Fo Hp” % ®9 ¥ Fedsg foham S ©
9 991 § “Patience is happiness” I fod YR Feag fhan smam ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330727959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) % 650 and T 900
(2) % 700 and ¥ 850
(3) % 750 and T 800
(4) % 800 and T 750
Options :

1.1

2.2

3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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4.4

Question Number : 25 Question Id : 5330727959 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T 1550 1 1 T H 791 SR €, Ul ST 8 % 1 S R AR g 9T H 6% H W W AfS
ue T H erfsta foram T e = T 106 ® O WS o W FA9: e 5 g afer 3 Fwifew

(1) % 650 3 T 900

(2) T 700 3T 850

(3) ¥ 750 3R T 800

(4) T 800 3R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330727960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If one eats mushrooms after a long gap of time, one falls ill. I have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(1) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 5330727960 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofe 1 =afaq OH9 & UF o a0 F 91E HIET F1 Y9 Fal § 9§69 9 ¢ HiE F oA
Tt B e Heiel T o g 9 @ T, safau s ufs # faw e ffya afsei % gu i e @
BT | 39 g H, Afg 1S o, foRan T <9 i € 7

(1) TETH Y g ©

(2) Fd 9 fauE

(3)  fa=nia |mr=ieR

(4) ST 9

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 5330727961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(I) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

) (A), (B), (©) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 5330727961 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af FYF-'Fo o9 a9 €, # I & ' ° foan w0 € @ frefafea § 9 59 s o ome F e A
ST feran S Sehan 8 2

(A) W|eft st o €

(B) F® oHd = Tl €

(C) F = 31a T &

(D) oI Sft Ta o 7 §

99 fou o fosredi O 9 W& I F F5H AU
(1) = (B), (C) ¥t (D)

(2) =4 (D)

(3) I (B) 3R (O)

4)  (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330727962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330727962 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas & | S afasfear s €2
(A) | o 37 €

(B) HIE off I Iyad AL ¥ |

(C) FS o aaa g |

(D) FS I A Tal & |
= fou e fasredi © 9 WE I H 95 FIfAT
(1) e (C) &R (D)
(2) O (A) (D)
(3) eI (B) 3R (D)
(4) FE (A) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 5330727963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330727963 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 9 =7 wfasfad # Te=am Ffee s afds T 9 goaed € 2
(A) FS T STIH T

(B) F® Y& -39 TEl € |

(C) F9 3T=E - T2l |

(D) FS 3TH THF & |

= feu o faeredi § | W& T T2 FHET

(1) == (O) R (D)

(2) A (A) (D)

(3) A (A) 3R (C)

(4)  (A), (B), (O) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?

(1) Perception

(2) Analogy

(3)  Verbal authority

(4) Postulation

Options :
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1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727964 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 o Tug A el off WrE T e S T S o YR A W w1 | 39, 58 U 3 9ee
WA 3 T8l 2R 1" I RS 99 % ST99R SWiE &y § 39 F fg anm o uge e e g ?

(1) oy diy
(2) 39
(3) 9IeE 9HIO
(4) 9
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330727965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?

(1) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse
Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 5330727965 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

01 H | 3 98 Gidgl © S Sfdifed stger w1 w4 a1l 99— o gefia s & S
TR gt e Hemse B T Yehe 8 HeRd © 7

(1) T
(2 TEEAW
@) 9

(4) ZreEEd
Options :

1.1

2.2

3.3

4.4
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Question Number : 32 Question Id : 5330727966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330727966 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HreshETRe vy e 8 § foRae seem 27
(1) JETeHeE HHHA Zeiche Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 5330727967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2) (B), (O, (A) (D)

(3) D) (©), (B), (A)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4
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Question Number : 33 Question Id : 5330727967 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS & & YR W FH 42Tk o 14 T- THRI A-D F el TRE! W S Gedr Hired ;
(A) TG T (WAN)
(B) TAT T (LAN)
(C) THTTI (MAN)
(D) W TUA (PAN)
= fou o faded § F W& W FH =TI FIGC
(1) (D) (B), (O, (A)
2 (B), (©), (A), (D)
@) D) (©), (B), (A)
(4) (A), (B), (D), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 34 Question Id : 5330727968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330727968 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e # & i gfaat Faa Feer 1 (sm=eye) g €2
(A) TR

(B) X

(C) @ W

(D) WSt

(E) @

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) &= (A), (B), (D) &R (E)

(2) = (D) &R (E)

(3) e (A), (B) 3R (C)

(4) = (B), (D) ¥R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330727969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VolP (I) A tool for real-time communication between two or more

people sending text messages to their devices

(B) Instant Messaging (IM) (I) A system of interlinked hypertext documents accessed via
the Internet

(C) VPN (IIf) A technology that allows you to talk with other people
using the internet

(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (A)-(1D, (B)-(I), (O)(1V), (D)-(III)

(2)  (A)-(IV), (B)-(1D), (C)-(1LL), (D)-(I)

(3) (A=), (B)-(I), (O-(I), (D)-(IV)

(4) (A)-(), (B)-(T), (O-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330727969 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
(g i 2 ") (‘wfwraT )
(A) ot &0 e @ (VoIP) () 1ot il o are Haw 991 T < 71 Aferek safedi
=T arcaifires T9IR 7 ST
(B) Ok W YU (&ME wH) (IM) (1) FeE % wregw § st wrem Hhifed eemea gore
JoTTE!
(C) ot dt T (VPN) (Il) =& G S TI9eR 32012 o Wam § 319 w9
e A 1 AT Sl §
(D) &g =g g5g (WWW) (IV) € "o Sl eeeh A1 o hISIhv gHI <12l |
E2GI

= feu U forredi H @ W& 3T A = FHIWY
(1) (A)-1D, (B)-(0), (O-1V), (D)-(I1)
(2)  (A)AIV), (B)-(1I), (C)-(ILD), (D)-(T)
(3)  (A)-(), (B)-(D), (O)-(IL), (D)-(1V)
(4)  (A)-(), (B)-(D), (O-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 36 Question Id : 5330727970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng are routes for exposure to pullutants m humans ?

(A) Inhalation

(B) Consumption

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B (D) and (E) Only
(4) (A), (O) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 5330727970 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THE B U F SUTEA F 0 fefafaa § g wm E 2

(A) S TIEA
(B) 39
(C) iaem
(D) wE
(E) Hr=d

9 fou o fashedi H | W& I FH FFH FIfAC
(1) %9 (A), (B) 3R (C)
(2) FEE (A), (C) 3R (D)
(3) #Ed (B), (D) iR (E)
(4) FFA (A), (C) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330727971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(1) Mercury

(2) Radon

(3) Helium

(4) Argon

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330727971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | 58 ©F TE o1iafe 99 YU+ & a1 9% WHE1 ST € 2
() 9

2 A

(3) Efeam
(4) mH

Options :
1.1
2.2
3.3
4.4
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Question Number : 38 Question Id : 5330727972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Leachate is a :

(1) Green house gas

(2)  Air pollutant

(3) Liquid extract from landfill site
(4) Ozone depleting substance

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 5330727972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfea uemel (efee) 2w .
(1) 7 zRy

(2) @ 9gHh

(3)  yfFsEor =i § i a3
(4) SIS aor geref
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330727973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tropospheric or ground level ozone ?
(A) It is called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) Itis formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (©), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©), (D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 5330727973 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1 5 9 [ afvHeeg Sge YT S % G99 | Hel ¢ 7

(A) Y TH 3= S Fal Al @

(B) e el Wa B 3 1 A= ot IR sfaftg @ & wwor fafda S ®
(C) & E2roM & Sise T gEReET #1 fofan & R fAfifa &t &
(D) IE TF WA 258 7§

(E) I% YohTO-THTATTF (RRIhiHeFel) el o THE Ho2F ©

= fau o fawmedi #§ 9 W& I 999 FHifAC

(1) = (B), (C), (D) 3 (E)

(2) EE (A), (B) #R (C)

(3) %= (O), (D) ¥R (E)

(4) e (A), (D) 3T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland

(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy

(E) It is a collaborative initiative of India and France

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2)  (A), (D) and (E) Only

(3) (B), (O) and (E) Only

4) (C©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR 6 Teas (96 w9 T) & an § 74 § § 1 99 22
(A) =@ ER H 100 ¥ s g Tw it €

(B) U gEATE e, fafeseiz # &

(C) 3HF ATCRRIY Wew e T 37 ek v & 0o feom €1
(D) 39 TEEYA 1 WTHF 3599 G 3N =1 &1 ST FE1 B
(E) % 9RA 31N W% =i TF Gearl Jed 2|

= fou o fasedi §f 9 W& I 1 T HITAC

(1) e (A), (B) 3T (D)

(2) % (A), (D) ¥R (E)

(3) 9 (B), (C) IR (E)

(4) = (C), (D) 3R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 5330727975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(1) 3 percent
(2) 6 percent
(3) 7 percent
(4) 9 percent
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330727975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS AN (1963-64) A e W U9 &4 & T & =49 1 Gara o o
(1) 3 gfaem

(2) 6 gfayd

(3) 7 ufayd

(4) 9 gfaem

Options :

1.1

2.2

3.3

4.4
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Question Number : 42 Question Id : 5330727976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears
(2) Four years
(3) Three years
(4) Two years
Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 5330727976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fovafaemera f1am s (1948-49) 9 fohe aui @ & ©aw fei % fou ggma fean on?
(1) =

(2) =Ry

(3) < o

(4) Qo

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

(2 (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (D), (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727977 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 35/122



8/30/24, 11:19 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 2 Wrong Marks : 0

e Alkeis 7 FafafEs § FHE 3u" gy fFu 972

(A) wr=g welfaarerdl (STftdeel FHIers) o STEeror i el YSH i
(B) WA wrisd H SHe % ford SwEnh FHiadl @1 g H

(C) =IaH 3T & foq Fwsig werferererdl i L= ¥ Hiqud T &1 999
(D) WeIfeRIea % YEashlcrdl ol g el

(E) foenfel =t wmafai =1 waifa

= feu mu fawredi § 9 WE I F T2 FfSU

(1) e (A), (B), (C)

(2) e (B), (C), (D)

(3) e (C), (D), (E)

(4) &= (A), (D), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 5330727978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D)  Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
1) (A), (B), ©, E), D)

@ (), (D) (B), (B), (A)

@) (D), (B) (A), (B) (©)
(4) (B, (A), ), @), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 5330727978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa Terfaeredl 1 T o el FHIcTshiHe HH i Tgar il ;
(A) e fafezm e, o
(B) H&Rd Helfa=eT, I
Q) w2 foxg weifamned, F Iy
(D) Ure-afes Fiers, TeR
(E) HERd HelfE=eE, sRE
99 fou Tu fasredi H 9 W& 39 FFH FIfAC
(1) (A), (B), (O, (B). (D)
(2)  (©. (D), (B), (E), (A)
(3) (D), (E), (A), (B), (O)
4) (E) (A) (B), (D), (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Commission) (Recommendation)
(A) Hunter Commission ()  University technological departments providing for
research and teaching
(B) Sadler Commission (I)  Withdrawal of government support to collegiate education
(C) Hartog Committee (IT) Development of mofussil colleges into future university
cenlres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ID), (C)(I), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (O)-(V), (D)-(0)
(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teli-1 TElt-11
( 2rErT ) (3TeTET)
(A) B AT () 9y i forem yere =2 & gey ¥ favafaares & drifmsm fagm
(B) USSR &@EM () Welfaamed fen 9 Sl §Hefd g2
(C) =R gfufg (IIl) HFeqe Helfaared & dwel foavafaeme™ =i ¥ fawfaa e
(D) W= GreT (IV) werfaene™ & qEakmedl & Hadq 3R gfer #=i § 176 T2mra
et
= feu o fosredi | W@ I FH =T HIGC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A1, (B)-(ILD), (C)-(V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(I)
(4)  (AHLV), (B)(D), (C)-(IN), (D)~(IM)
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072316
Question Shuffling Allowed : No

Question Id : 5330727980 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Mnday Centre for Functional and Intergralive Medicine in Norfolk, Virginja, and Phjladelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won't cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 5330727981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Important key message the above text conveys about holiday eating can be stated as follows :
(1) Itis important to completely avoid indulgence

(2) Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 5330727982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330727984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3) They may raise blood pressure and heart disease risk

(4) They increase the tendency for processed food

Options :

1.1

2.2
3.3
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4.4

Question Number : 50 Question Id : 5330727985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :
1.1
2.2
3.3
4.4

Question Id : 5330727980 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

ferw U TEITYT St UgeRT WYl o ST EITa

gfgat yra: 37 mt % fow off @ # dferad &1 w2 €, S e ad § o7 SeR % 9 H |
T W 2 |

cifer, stfafter Fer & 9o ¥ 5= % 999 Pl & fo Trae & 9§ o) of 91 €1 89 S @ w5
¥ Iue gfeierss yomell afed Gl IR % Tared W uYE Tedl €1 iifE I F sifernie ufeterr yomedt ot
T Hopf=d € 3R e foremm owal & T o AiEshiaram e T SEiean (SiE]) -gn 4 W ¥, SHH Toda
T9TE Teal & foF wicremss gonell Y #1d Fdt ¢ | aga-a @R 3 W 9 ioiE 1 g2 9l 99 o 9
T & Hrd € afe fagm Fea ® T 72 veoqul €1 9% WdwE, gt R frersfern § de 8= wR
hRM g Farifeq Afefam % yay fewe vd Srays T HIE F FeN €| SR g ad & 39 g9g ¥ faum 'y
H Heayu € FifE 9l #1 wfcal oy 36 99 2l €, 59 W, W &R YagT SR 9H W e € |

iR AT-hal WA | Sfera 31 Syad: T afa 98 geanem, dfwd Ta-a4 % G 7 gy 1@
e T € srarers € S SR S § Ufa R T €1 Feligeie gl & 9oy ue frafea
Hfefad fewdiez ¥ ysiigra smer fasvs foreia fardhfes o1 Fem & ' arce | W U W | aT9Eme e siit
o 2 R H e T 39 I WEREEN R 99E U gk g1

Sub questions

Question Number : 46 Question Id : 5330727981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IUF 9IS 5N BEl & e &% @AY H Hieraar % 9] H Siaely T Heequl 1 G Fi frefaiead % '
¥ srfiyeram foran < Te €

(1) @AY o e | qoia: a9 Hewgd

2)  FE-hel WA H Sfereal gr et aifa sEafe 2

(3) TER 1 YIOET JOIEl T 1S Hield GUE el g 2 |

(4) fedi & feT sfa—am e & 9 99 37 % Th 59 909 © |

Options :

—
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1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330727982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TE FHYF 1 T Fo0, IS H BT 1S F FYA W NAfTF B9 G oH Figa =4 F 9N H T F=a

(1) Hafera er & o

(2) SR AR W& Yomed o e Gay
(3) frafma =mam = 9

(4) =M % @ |/ Y9E

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § wOr & gfoweon yomelt | 21 & fohg gura =i == #T T § 2
(1) 3 gY FleRIe &R

) wfaeeror guret < el W geds a9

(3) T F WA H guUR

) @ A T

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 5330727984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) 3 R ¥ sreaferr 960 30 F4d B

(2) IR H oA @ s (Siem) €

(3) A FaEm iR 7 e I &% sifew #§ gfg g ¥
(4) 3 TEERT @ UeHel % Hed o1 99t 9gid & |

Options :
1.1
2.2
3.3
4.4

Question Number : S0 Question Id : 5330727985 Question Type : MCQ Option Shuffling : No
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freferfaa o § S o S U % Heo o wWé I £ 7

(1) Afg a9 e % =R 7 gaia "eH s € 9 98 &0 afa ad €

(2) wfereror o HeEE S TEA % o St w1 SeHayEs a9l ¥ WHIE & 5 Afey, afew org
At Yerafeerd aF 8§ SeHaqul WATH A =1fey |

(3) BW SN WAYH FA T, SHHRT FIRETT JOTE T Fedel YoTE g2 ©

(4) TS WEIH T G T s Tgem

Options :
1.1
2.2
3.3
4.4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

533072107
2

Online
Mandatory
92

92

200

0

1
533072317
Yes

Question Number : 51 Question Id : 5330727986 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The language ol satkhandagama belongs to this age :

(1)  Secondary Age
(2) Primary Age
(3) Tertiary Age
(4) Modern Age

Options :

1.1

2.2

3.3
4.4

Question Number : 51 Question Id : 5330727986 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

YEEUENTY 1 9191 39 g7 i © |
(1) el 7o
(2) FYHIT

(3)
4)  FYFEF 91
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Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330727987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vasudevahindi is created in the language of this age :
(1)  Secondary Age

(2)  Primary Age

(3) Tertiary Age

(4) Modermn Age

Options :

1.1

2.2

3.3
4.4

Question Number : 52 Question Id : 5330727987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHATEIS] 6 0 Hl 991 H a 2
(1) fgeta gu

2)  9E¥H T

(3) gaE T

4)  YFE

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330727988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The language of Jayadhavald is of this age :
(1)  Secondary Age

(2) Modem Age

(3) Tertiary Age

(4)  Prmary Age

Options :

1.1

2.2

3.3
4.4

Question Number : 53 Question Id : 5330727988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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STAHEAT T 1 A 9 I O
(1) T 7m

(2) YR 7

(3) g ga

4) wem gw

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330727989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The language of the apabhramsa verses of Hemachandra’s Prakrit grammar :
(1) Primary Age
(2) Tertiary Age
(3)  Secondary Age
(4) Modemn Age
Options :
1.1
2.2

3.3
4.4

Question Number : 54 Question Id : 5330727989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS % TR0 ] AYNI MM FT 9T 39 T FH B
(1) wem g

2) A
3) fgdmm gn

(4) YR g0

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330727990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The word taham is used for the tirtham in [ollowing Prikrta
(1) Sauraseni

(2) Magadhi

(3)  Paisaci

(4) Maharastri

Options :
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1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330727990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e veg % oI € vIeg 1 A e Wi H R ©

(1) oeEAT
(2) AR
(3) e
(4) HERTE!
Options :

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 5330727991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The word duyyana is used lor the durjana in following Prikrta :
(1) Magadhi

(2)  Apabharannsa

(3)  Sauraseni

(4)  Paisaci

Options :

1.1

2.2

3.3
4.4

Question Number : 56 Question Id : 5330727991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥rae o fere g2 vieg o WA e R § e B

(1) HFTER
(2) AU
(3) WA
(4) El?i!fii
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 5330727992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The word purava is used lor the parva optionals in [ollowing Prakrta :
(1) Paisaci
(2)  Sauraseni
(3) Magadhi
(4) Maharastri
Options :
1.1
2.2

3.3
4.4

Question Number : 57 Question Id : 5330727992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

v 31 o fore g wsg =y faspen § e urga # 2 €

(1) o=
(2) ST
(3)  HRTER
(4) HERT
Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 5330727993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The word yitiso is used lor the yadrksah in following Prakita :
(1) Maharasti

(2) Magadhi

(3)  Paidaci

(4)  Ardhamagadhi

Options :

1.1

2.2

3.3
4.4

Question Number : 58 Question Id : 5330727993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt v ok fora Afaw wisg <1 94T 9 Wik H @ €

(1)  HeRr=l
(2)  HRTER
(3) YT
(4) TR
Options :
1.1
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2.2
3.3
4.4

Question Number : 59 Question Id : 5330727994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Description ol thirty two types ol natyavidhi is in [ollowing text :
(1) Ré&japradniya sitra
(2)  Prajhdpana stitra
(3)  Namdi stitra
(4)  Sirya prajiapti
Options :
1.1
2.2

3.3
4.4

Question Number : 59 Question Id : 5330727994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A YRR 1 ArRfafy o1 g e gy H

(1) TEyeE g
(2)  FH9T A
(3) < gF
4) gausa
Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330727995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Author of the tiloyapannatti is :
(1)  Gunadhara
(2)  Yativrsabha
(3) Si varya
(4)  Vattakera
Options :
1.1
2.2

3.3
4.4

Question Number : 60 Question Id : 5330727995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fasirayuofs % i § :
(1) TOIER

2) Ifdguy

(3) Toradd

(4) TEHT

Options :

1.1

2.2

3.3

4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 61 Question Id : 5330727996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Niyativada is mentioned in this canon

(1)
(2)
(3)
(4)

nayadhammakaha
vipiakasulra
sttrakrtanga

stryaprajiiapti

Options :

1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330727996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaeme 1 I@ s SIPH H 7
(1) THEFR]

@2) fagrrga

(3) HFFA

4) gausa

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330727997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The [inal recension ol the ardhamigadhi canon was held al :

(1)
(2)
(3)
(4)

Valabhi
Mathura
grﬁv:mli

Pataliputra

Options :

1.1
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2.2
3.3
4.4

Question Number : 62 Question Id : 5330727997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

arefumrel sl ot Sifan are gE g ol
(1) et

(2) HYU

(3)  gEE

(4) arefergH

Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 5330727998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The hero ol *Gaudavadha’ is :
(1)  Ramacandra

(2) Yasovarma

(3)  Satavahana

(4) Kumirapila
Options :

1.1

2.2

3.3
4.4

Question Number : 63 Question Id : 5330727998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“TirEay’ = AIE TEE

(1y IHE="
@)  eiEmt
(3) Hiqdled
(4) HHIYA
Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 5330727999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The period ol kuvalayamalikaha is :

(1)
(2)
(3)
(4)
Options
1.1
2.2

3.3
4.4

579 CE
679 CE
779 CE
879 CE

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 64 Question Id : 5330727999 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

FIATAATHE I TR € :
579 g
679 SHE(
779 $GE
§79 gHal

(1)
(2)
(3)
4)
Options
1.1
2.2

3.3
4.4

Question Number : 65 Question Id : 5330728000 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

This is the text compiled by Javavallabh :
(1) wvajjalaggam

(2)  gahdsatlasai

(3) kuvalayamalikaha

(4)  samariiccakaha

Options :

1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330728000 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

‘SrEeey| BRI HeRfold TR TR ©
(1) F=eT

(2) TEHETds

(3) FECTHHTCARE

(4) GEE=ehel

Options :

1.1
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2.2
3.3
4.4

Question Number : 66 Question Id : 5330728001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The creation of vimalasuri is :
(1)  mahaviracariyam
(2)  sudamsanacariyam
(3)  paumacariyam
(4)  surasundaricariyam
Options :
1.1
2.2

3.3
4.4

Question Number : 66 Question Id : 5330728001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

famemf #l T AR T
(1) HeE=E

2) HeHIERE
(3) TsHERg

& et

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330728002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The composer ol carudatia drama is :
(1)  bhavabhiti

(2)  bhasa

(3) asvaghosa

(4) kahdasa
Options :

1.1

2.2

3.3
4.4

Question Number : 67 Question Id : 5330728002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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'recay A 1 A 98 €
() s&Yfa

(2) HH

(3) ATEETY

(4) Fifcrerd

Options :

1.1

2.2

3.3

4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 68 Question Id : 5330728003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The drama of kalidasais :

(1)  mrechakatikam
(2)  Sarputraprakaranam
(3) abhijianasakuntalam
(4) avimarakam

Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 5330728003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIfASH Hl A2F A TE 8§ ¢
(1) HoIhRicH

(2)  IMTYEYRTIH

(3)  HATYIFYIE T

(4) HAfeHREH

Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 5330728004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The creation of rudradisa is :

(1)
(2)
(3)
(4)

karpuramanjari
candralekha
anandasundari

rambhamanjari

Options :

1.1
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2.2
3.3
4.4

Question Number : 69 Question Id : 5330728004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Frem FTET TR E
(1) YT

(2) =l

3) HAF=g=
(4) TSR
Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 5330728005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The composer ol karpturamanjari is :
(1)  ghanaSyima

(2)  viSveSvara

(3) rudradasa

(4) rajaSekhara

Options :

1.1

2.2

3.3
4.4

Question Number : 70 Question Id : 5330728005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘el o T AR

(1) S99
@) favag
(3) ¥=EaH
(4) TS
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 5330728006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Asdokan incriptions are a kind ol

(1) request

(2)  government order

(3)  preaching

(4)  judgement

Options :

1.1

2.2

3.3
4.4

Question Number : 71 Question Id : 5330728006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

19 F e T TFR Y TE ¥
(1) faafq

2) ITEATCYT

(3) I

4) Taoig

Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 5330728007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kakkuka inscription contains the salutation ol this :
(1) Siva

(2) Rama

(3) Krspa

(4)  Jinandtha

Options :

1.1

2.2

3.3
4.4

Question Number : 72 Question Id : 5330728007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fageh SAfvera | 3eh! T o T €

() Pm=
2y TIH
(3) T
4) Ty
Options :
1.1
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2.2
3.3
4.4

Question Number : 73 Question Id : 5330728008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This is the most ancienl inscription of Prakrit
(1)  Ashok

(2)  Kharavela

(3)  Nahapan

(4) Kakkuk

Options :

1.1

2.2

3.3
4.4

Question Number : 73 Question Id : 5330728008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UId 1 Al Y= e 98 ©
(1) o79ieh

(2) WREA

(3) TeUH

4) FIFE

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 5330728009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Kalingadhipati’ the word has been mentioned in this line ol the Kharavela inscription :

(1) Forth
(2) Filth
(3) First
(4) Third
Options :
1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 5330728009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Graa o forerera =1 39 e # wfcmieafa w1 3

(1) =m[d
(2) Y99
(3) WoH
4) gaa
Options :
1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330728010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This is the author of prosodic text called vritijatisamuccaya ;
(1)  virahanka

(2) pingala

(3)  nanaditidhya

(4) Hemacandra

Options :

1.1

2.2

3.3
4.4

Question Number : 75 Question Id : 5330728010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUAIaaT = BT U7 % =i €
(1) Tat=s
2) o=

(3) g
4) THEE
Options :

1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 5330728011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Prakrit grammar of trivikrama is based upon grammar of this author :
(1) Vararuci
(2) Canda
(3) Hemacandra
(4) Marakandeya
Options :
1.1
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2.2
3.3
4.4

Question Number : 76 Question Id : 5330728011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffarshres 1 WIgha TR 37 ST T STHIRE €

(1) =&
(2) =8
(3) THI=
(4) TRFLH
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 5330728012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This chapter of siddhahemasabdanusisana discuss the prakril grammar ;

(1) st
(2) eight
(3) lilth
(4) seventh
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 5330728012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THEeHYREIIA & 39 S1EATd H Wiehd ST afo €

(1) H¥H
(2) =Y
(3) H=H
(4) H«H
Options :
1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 5330728013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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This is the principal metre ol Prakril :

(1) ghatla

(2) gahu

(3) gaha

(4)  simhini
Options :

1.1

2.2

3.3
4.4

Question Number : 78 Question Id : 5330728013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIFd 1 UHH S TS €
(1) ¥

(2) T

(3) el

(4) THfEOR

Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 5330728014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This letter is notl used in Prakrit ;
(1) e

@2 t

(3) a

4) ©

Options :

1.1

2.2

3.3
4.4

Question Number : 79 Question Id : 5330728014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wi | 39 of o1 YT TE e €
(1) [
2) =
3 #
4 =
Options :
1.1
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2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 80 Question Id : 5330728015 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

This is number of case endings :

(Iy 6

(2)

3 9
4 8

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 5330728015 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

TR o &A1 24 €

(hH 6
(2) 4
3 9
4 8
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 5330728016 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The visarga alter a letter changes Lo this :

(1) a
(2) a
3y o
(4) i
Options :
1.1
2.2

3.3
4.4

Question Number : 81 Question Id : 5330728016 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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‘a1’ & o faut s W gE ufEda g 2

(1
2)
(3)
(4)

H

1
3l
g

Options :

1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 82 Question Id : 5330728017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ya Sruli occurs instead of these lelter :

(1)
(2)
(3)
(4)

O au

Options :

1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330728017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T gfa 27 =il & T WA €

(1)
(2)
(3)
(4)

a7 27
T
T3
H HI

Options :

1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 5330728018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lokavijaya / Lokavicaya is the part of this text :

(1)  Uttaradhyayana Stilra
(2)  DaSavaikilika Siitra
(3)  Sthananga Sutra
(4)  Acaranga Siitra
Options :
1.1
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2.2
3.3
4.4

Question Number : 83 Question Id : 5330728018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eRfarsTd / iehfa=d 39 T+ & 91T ¢ ¢
(1) SEeE g
(2) SEeRIceR T3

(3) HAHA
(4) STERTES
Options :
1.1
2.2

3.3
4.4

Question Number : 84 Question Id : 5330728019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

**Je gune se milatthine, je milatthine se gune’”
This line 1s found in this text

(1) Acarangasitra

(2) Dasavaikalika satra

(3) Pravacanasira

(4)  Vasunandi - §ravakicira
Options :

1.1
2.2

3.3
4.4

Question Number : 84 Question Id : 5330728019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y I | erg, S gerg 8 e
Ig ferd 39 T E W €

(1) ST 9

2) TRHICR g3

(3)  WeETEN

(4) ~ FEFHER
Options :

1.1

2.2

3.3
4.4

Question Number : 85 Question Id : 5330728020 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

The correct pair of Sauraseni (exts is :
(1)  Pravacanasira- Utlaridhyayana siitra
(2)  Samayasara - Acdririga siitra
(3)  Dravyasangraha- Vasunandi - §ravakacara
(4) Dasavaikalika - sammaisutlam
Options :
1.1
2.2

3.3
4.4

Question Number : 85 Question Id : 5330728020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

virEr el o
(1) YIITHR - 3T0EEE A

2) HIIER - SAERATE

(3) THEUE - FHAG-ITahTEn
(4) SEEHTAF - HHRYD
Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 5330728021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mahakavi Puspadanta is the composer of this text :
(1)  Satkhandagama

(2)  Pravacanasara

(3)  Paumacariu

(4) Nayakumaracariu

Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 5330728021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Herhlea qoue=t 59 T+ & e €
(1) WEUETH

(2) HIETER

(3) YSHAE

(4) UTEHFHRERS
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Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330728022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Representative text for ‘nidanakatha’ is :
(1) Samaraiccakaha
(2) Manormikaha
(3) Kuvalayamalakaha
(4) Rayanavalakaha
Options :
1.1
2.2

3.3
4.4

Question Number : 87 Question Id : 5330728022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e’ o wfaffa T © .
(1) SHIE=IEE
(2)  TEARHERE

(3) TFATIHTCIERE]
4) THUHEIASRE]
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 5330728023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vajjalaggam is this type prakrit text :
(1) Mahakaya

(2) Khandakavya

(3)  Muktakakavya

(4) Gadyakivya

Options :

1.1

2.2

3.3
4.4

Question Number : 88 Question Id : 5330728023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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"SsTrerl’ 39 YRR R WIhd TR €

(1) THTFERTA
(2) THUEhTeH
(3) HadshehlA
(4) TERTHA
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 5330728024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
*Tadhi vi mam neccha$i Suddhadanti” line is found in :
(1) Vajjalaggam
(2)  Mracchakatikam
(3)  Abhijnansakumtalam
(4)  Paumcariyam
Options :
1.1
2.2

3.3
4.4

Question Number : 89 Question Id : 5330728024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“aun fa  dreafr wesfa’ A g e H ura ®

I sl

2) HZHHCH
(3) VI
(4) I3HEg
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 5330728025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Authur of the mahapuranu is
(1) Puspadanta
(2)  Svayambhi
(3)  Dhanapila
(4)  Sivarya
Options :
1.1
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2.2
3.3
4.4

Question Number : 90 Question Id : 5330728025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" HETAI] F TEE ¢
(1) 9Y™H<d

(2) \IH

(3) 4T

4) T
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 5330728026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the lollowing rom early Lo later chronology :
(A) kasdyapihuda

(B) ritthapemicariu

(C) gandavaho

(D) rajaprasniyasilra

(E) gahasallasai

Choose the correct answer [rom the options given below :
(1) (C), (D), (E), (A), (B)

2) (B), (C), D), (E), (A)

(3)  (A), (B), (C), (D), (E)

4) (A), (D), (E), (C), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 5330728026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freafafiad =1 99 | 999 & FIesRAIaR SHarked i ;

(A) hHMEHES

(B) fregufiefs

(C) TISEERI

(D) TSTHEHE G

(B) TITRIEwEE

9 feu foeredi & 9 W& I 1 999 FI9C

(1) (C), (D), (E), (A), (B)
(2)  (B), (C), (D), (BE). (A)
(3) (A), (B), (C), (D). (E)
4) (A), (D), (E), (C), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330728027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following according Lo their person and number :
(A) ramimo

(B) ramaha

(C) ramanti

(D) ramami

(E) ramasi

Choose the correct answer [rom the options given below :
(L) (B, (D), B), (A), (C)

2)  (C), (E), (B), (D), (A)

(3) (B), (A), (O). (E), (D)

4y (C), (A), (D), (B), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 92 Question Id : 5330728027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa &1 789 iR = F FHER Safeed &1

(A) T
(B) e
(C) T\
(D) THIH
(E) Tfg
= feu faskredl § | W& S T4 Hi6

(1) (B), (D), (B), (A), (C)
(2)  (C), (E), (B), (D), (A)
(3) (B), (A), (C), (BE). (D)
4)  (C). (A). (D). (B), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 5330728028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange lollowing commentaries according to their order from early to later period :

(A) Carni
(B) Niryukti
(C) Tika
(D) Bhasya

(E) Balavabodha

Choose the correct answer [rom the options given below :
() (C), (B), (D), (A), (E)

(2)  (B), (D), (A), (C), (E)

3y (D). (A), (C), (B), (E)

4) (A), (E), B), (D), (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 5330728028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freafafiad samensdl =1 gd | q9ard FHER sHared $1
(A) =it
(B) frfer

(C) Zr

(D) 4™

(E) rereany

= f2u faskedl § | W& ST T4 Hi6

(1) (C), (B), (D), (A), (E)
(2) (B, (D), (A), (C), (E)
(3) (D), (A), (C), (B), (E)
4) (A), (E), (B), (D}, (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330728029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange lollowing dcdryas according to early to later period :
(A) Yativrsabha

(B) Kundakundicarya

(C) Gunpadhara

(D)  Vasunandi

(E) Nemicandricarya

Choose the correct answer [rom the options given below :
(1) (B), (E). (A), (C), (D)

2) (A), (C), (B), (D), (B)

(3) (C). (B). (A). (E), (D)

4) (D), (E), (C), (A), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 94 Question Id : 5330728029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freafafiad st=mdt 1 99 § 39 T HTER SFared #i
(A) FfTgay
(B) FFrrd

(C) TR

(D) =gA=<

(B) Afgersrar

9 feu foeredi & & W& I 1 999 FI9C

(D) B), (E), (A), (C), (D)
2)  (A), (C), (B), (D), (B)
(3)  (©). (B), (A), (E). (D)
@) (D), (E), (C), (A), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330728030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange following anga igama according to order :
(A) Nayadhammakahio

(B) Vipakasiitra

(C) Sotrakrianga

(D)  Anlakrtadasanga

(E)  Viyahapannatli

Choose the correct answer [rom the options given below :
(L) (A), (D), (C), (E). (B)

2) (C), (E), (A), (D), (B)

3y (E), (C). (B), (D), (A)

4) (D), (B), (A), (C), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 5330728030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefefaa si STl 1 FAER SFarerd &
(A) FATHTHEER

(B) faurryga

(C) FFFA

(D)  STAHAGI

(E) Teameguorfy

9 feu foeredi § & W& I 1 999 FI9C

(1) (A), (D), (C), (E), (B)
(2)  (C), (E) (A), (D), (B)
(3) (B, (C), (B), (D), (A)
4) (D), (B), (A), (C), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330728031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the [ollowing and arrange in chronological order [rom early to later period :
(A) samghadasagani

(B) ramapanivada

(C) vakpatirdja

(D) padaliptasuri

(E)  jinesvarasuri

Choose the correct answer [rom the options given below :
(1) (B), (B), (D), (A), (C)

2) (A, (D), (C), (B), (E)

3y  (B), (C), (A), (D), (E)

4) (D). (A), (C), (E), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 5330728031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa #1 98 3R Y ¥ SO & 0 § Safeed &

(A) HEEEor
(B) THUIIETE
(C) St

(D) IrEfawgR
(B) forvargh
9 fou fased o ¥ WE SW &1 999 Fifen
(1) (E), (B), (D), (A), (C)
(2) (A), (D). (C), (B), (E)
(3) (B). (C), (A), (D), (E)
4) (D), (A), (C). (E). (B)

Options :

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 5330728032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and arrange the chronologically lrom early Lo later period :
(A) Rayanascharanivakaha

(B) Lilavaikaha

(C) Kaharayanakosa

(D) Kamsavaho

(E) Setubandha

Choose the correct answer [rom the options given below :
(1) (A, (B), (D), (C), (E)

2) (E), (B), (C), (A), (D)

(3) (B), (C), (B), (A), (D

4) (), (D), (A), (E), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 97 Question Id : 5330728032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 711122



8/30/24, 11:19 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

frfafad #1 98 31 g | 3 F Ty § Hafeed #

(A)  TETHE I

(B) wlcagsel

(C) TFENAIRRE

(D) Rl

(B) Hg

9 fou foeredi & & W& I 1 999 FI9Q

(1) (A), (B), (D), (C), (E)
(2)  (B). (B). (C). (A). (D)
(3) (B). (C), (B), (A). (D)
4)  (C), (D), (A), (E), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330728033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the [ollowing and arrange in chronological order [rom later o early period :
(A) rajasekhara

(B) kilidasa

(C) wvisvesvara

(D) asvaghosa

(E) nayacandra

Choose the correct answer [rom the options given below :
(1) (A). (C), (B), (D). (E)

2) (B), (A), (O), (E), (D)

(3) (C). (B). (A), (B), (D)

4) (D), (B), (A), (C), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 98 Question Id : 5330728033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafeas &1 98 3R ITha | Yo & %0 § oAk

(A) TTST9ER

(B) Ifae™

(c) fagas

(D) SEE

(B) 4=

= feu faskedl § | W& ST T4 Hi6

(1) (A), (C), (B), (D), (E)
(2)  (B), (A), (C), (E), (D)
(3) (C), (E), (A), (B), (D)
4) (D), (B), (A), (C), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330728034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and arrange them chronological lrom later to early period :
(A) Candralekha

(B) Micchakatikam

(C) Mudrarakssasam

(D)  Anandasundari

(E) Carudallam

Choose the correct answer [rom the options given below :
(1) (A, (B), (C), (D), (E)

(2)  (B), (A), (D), (E), (C)

(3) (C). (A), (B). (E), (D)

(4) (D), (A), (C), (B), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 5330728034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa &1 98 3R 3T ¥ & F Fershy § afeed i

(A) TR

(B) W=IwHeHH

(C) HATTETHH

(D) FA=g<d

(E) ~reedd

9 feu foeredi & & W& I 1 999 FIAC

(1) (A), (B), (C), (D), (E)
(2) (B (A). (D), (E), (C)
(3)  (C). (A), (B), (E), (D)
4) (D), (A), (C), (B), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 5330728035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange these words of Kharavela inscription as per the lines from [irst to the latter order :
(A) karayal panalisati panalisihi satasahasehi

(B) gandhava veda budho dampa nata gita vadita

(C) namo arahatanam namo savasidhanam

(D) pandarasavasani siri kadara sariravala kidila

(E) nali abhisilamato ca pathame vase

Choose the correct answer [rom the options given below :
(1)  (C), (D), (E), (A), (B)

2)  (B), (A), D), (C), (B)

(3) (A), (B), (O). (D), (E)

4) (D), (C), (B), (E), (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 100 Question Id : 5330728035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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WRAT & AN % 379 Vel ol 3Teh! U o Yo H YYER F A H SHafed Y
(A) FAfd gdrETfe gaued e
(B) TiHEEEadl guasiiaead
(C) +THI 3TTEar 4 Faraye

(D) Termear foR et #isal
(B) fa stfyufaaadr 9 gem a9
T feu fasedi o 9 Wal ST 1 999 HI90 ;

(1) (C), (D), (B), (A), (B)
(2) (B (A), (D). (C), (B)
(3)  (A), (B), (C), (D), (E)
4) (D), (C). (B). (E). (A)

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330728036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the topics of the inscriptions of ASok Irom beginning to the later :
(A) Works of public interest

(B) Declaration ol duties and religious exhibition

(C) Compassion lo living beings and prohibition ol animals sacrilice
(D)  Appointment ol secretary for religious alfairs

(E)  Five year visit for religious propagation

Choose the correct answer [rom the options given below :

(1) (©), (B), D), (A), (E)

2)  (B), (D), (E), (A), (C)

(3) (A), (B), (O). (D), (E)

4)  (C), (A), (B), (B), (D)
Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 5330728036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aTeire o sifyeral o fawal &1 eTRY | 91 F 0 ¥ after #1
(A) CArRIERT
(B) uHHEm 7 efifer wevH
(C) e ue uy afa fay

(D) HHwemE g
(B) HHY=IR Yeerdia ST
T feu fased o 9 Wal 3T 1 999 HI90 ;

(1)  (C), (B), (D), (A), (E)
2) (B), (D), (B), (A), (O
(3)  (A), (B), (C). (D). (E)
4) (C), (A) (B), (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330728037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following from latter Lo earlier order :
(A) bhinuna

(B) cakkhuni

(C) devanam

(D) jinesum

(E) rimesunto

Choose the correct answer [rom the options given below :
(1) (A, (B), (C), (D), (E)

2) (D), (C), (E), (A), (B)

3y (B), (C), (D). (E). (A)

4) (C), (D), (E), (A), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 102 Question Id : 5330728037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafeas #1 98 iR 9vam | 94 & 0 § afed #i1

(A) “ﬂ‘?l”ﬂ
(B) =g
(C) <amy

D) feorg

(B) g

= feu fowredi o & W& I F1 999 FI9C
(1)  (A), (B), (C), (D), (E)

2) (D), (C). (B), (A). (B)

3)  (B). (C), D), (B), (A)

4) (C), (D), (E), (A). (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330728038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and arrange them from first to last case order :
(A) guravo

(B)  appana

(C) ranno

(D)  munim

(E) naisum

Choose the correct answer [rom the options given below :
(1) (A, (B), (C), (D), (E)

2)  (B), (C), (D), (E), (A)

3y (A, (D), (B), (C), (E)

4) (C), (D), (E), (A), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 5330728038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafafas 1 12 &R yem & wif<m faulsm w0 9 =Efen +1 .

(A)
(B)
(C)
(D)
(E)

T
aroqu
o
Y

T feu fosed § O Wal ST F 999 HI9T

(1) (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (E), (A)
(3)  (A). (D), (B), (C), (E)
4) (C), (D), (E), (A), (B)

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 5330728039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following sentences and arrange them in chronological order (from earlier to later)

(A)
(B)
(C)
(D)
(E)

Jena vipa logassa vi vavaharo savvaha pa nivvadai - sammaisutliam
Pasiyau mahu devi manohirama - ndyakumaracariu

Dansananana - caritla - lavarahana bhaniya - bhagavati - aradhana
Jivo uvaogamao amultti kattd sadeha parimano - dravyasangraha

Kicca arahantanam siddhanam taha pamo ganahardna - pravacanasara

Choose the correct answer [rom the options given below :

(1)
2)
(3)
(4)

(E), (C). (A). (B), (D)
(E), (C), (B), (A), (D)
(C), (B), (A). (D), (E)
(B), (A), (C), (E), (D)

Options :

1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330728039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafad sl #1 ufeu 3R 3% FesraaR safted &1 ; (76 9 SR F 0 H)
(A) <1 faon Sy f3 SR Heswl vl forsaes | - gwegH
(B) W3 wg ofa Hulifed | - UTepAR=is

(C) THOTIMY — FfE — TARTEUN WO | - STTe ST
(D) e Sasirmel s e T 9l | - gode
(B) To=n srEam fasTol a8 ot ToRae | - YEeEeEn

I feu fosred o | Wl 3T 1 T4 FIT

(1) (B), (C), (A), (B), (D)

(2) (B, (C). (B). (A). (D)

(3) (C). (B), (A), (D), (E)

4) (B). (A (C), (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330728040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and arrange them in chronological order from early Lo later period :
(A) Uddyotanasuri

(B) Acaryasunilasagara

(C) Mahikavi Hila

(D) Sadraka

(E) Mahakavi Rijasekara

Choose the correct answer [rom the options given below :
(1)  (A), (E), (B), (C), (D)

2) (B), (C), (E), (A), (D)

3y (D). (A), (C), (B), (E)

4) (), (D), (A), (E), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 105 Question Id : 5330728040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1 =1 € 3R 3% YelohTel ¥ SHIA % A § Tafeed il -
(A) SEEaTER
(B) & GAAEI

(C) HewRd Bl

D) YEH

(E) TeRRfa e

= feu faskredl § | W& S T4 Hi6

(1) (A), (E). (B), (C), (D)
(2) (B), (C), (B), (A), (D)
(3) (D) (A), (C), (B), (E)
@) (©), (D). (A), (E). (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330728041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correct option :
(A) The language ol Prakrit dhammapada is ol tertiary age.
(B) The earliest characteristics of Prakrit language are seen in Vedic literature.
(C) Kasiyapahuda is created in the Prakrit of Primary age.
(D) The language of §ilinka’s commentary is of tertiary age.
(E)  The language ol bhagavali aradhana belongs to the primary age.
Choose the correct answer [rom the options given below :
(1) (B), (C) and (D) only
(2) (A), (B)and (C) only
(3) (B). (D) and (E) only
(4) (C), (D) and (E) only
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330728041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 80/122



8/30/24, 11:19 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
1 FeM o€ IR Tel fashew 94 -

(A) WIHd HFYS i 9191 g LA € |
(B) dfee Tifecs ® Wighd & YrEHaH o1 it 26 €

(C) TFEEIES 9UW A wFa | ea T
(D)  ieATeh =1 211 i ST geid IO 2 |
(B)  SFTSl SRS Rl ST9T g i €|
9 fou foeredi & & W& I 1 999 FI9Q
(1) %A (B), (C) 3T (D)

(2) #aEe (A). (B) 3 (C)

(3) ad (B), (D) 3N (F)

4) TS (C). (D) 3R (EB)

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330728042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the lollowing statements and choose the correct oplion.

(A) The language ol niya Prakrit is ol primary age.

(B) The language of kundakunda’s texts belongs of secondary age Prakril.
(C) The Prakrit of the paumacarivam belongs Lo the secondary age.
(D) The lilavaikaha is in Primary age Prakril

(E) The works ol Joindu are in lertiary age Prakrit.

Choose the correct answer [rom the options given below :

(1) (B),(C) and (D) only

(2)  (A). (C)and (E) only

(3) (C), (D) and (E) only

(4) (A}, (D)and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 5330728042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 81/122



8/30/24, 11:19 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
1 e o€ IR wel fasweg 94
(A) % UThd SR T 9o G € |
(B) Tk & Ui i o1 fgaia i yrehd € |
(C) TeHEfE &t wEha fadta gie €
(D) CicEgee 9o i 9rehd & €
(E) e %1 il ger Il weha 7 &)
9 feu fosredi § 9 @& I =1 999 FI9C
(1) ad (B), (C) 3 (D)
(2) FFd (A), (C) 3R ()
(3) @ad (C), (D) 3R (E)
4) FEA (A), (D) 3R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330728043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and choose the correct statements :

{A) The word madhyahna is changed to majjhanna also in maharastii
(B) The word himanahe is used in paisaci

(C) Laischanged to La in Saurasenti

(D) Jnais changed to ina in Paisaci

(E) The subslilute for eva is ji in apabhramsa

Choose the correct answer [rom the options given below :
(1)  (A), (B) and (C) only

(2) (B), (C) and (E) only

(3)y  (A). (D)and (E) only

(4) (C), (D) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 5330728043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa el 1 96 3R &t FoFi 1 999 HE |
(A) TRRTE B HeATe Yise o1 qitadd Bogri 9es 8 off 2t
(B) Trameht # EHTe vIeg 1 WART 2l ¥
(C) YIEAT H & %1 9ftedd = o 2 B
(D) Yot § 7 6 ufteds s H g g
(B) =949 # 19 98 & foe £ =1 sewn 2
9 fou foeredi & & W& I 1 999 FI9C
(1) <& (A), (B) 3R (C)
(2) @Had (B), (C) 3N (E)
(3) ad (A), (D) 3 ()
4) TS (C). (D) 3R (EB)

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330728044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and choose the correct stalements.

(A) Yyevais used instead ol eva in Saurseni.

(B) Initial Jais changed to ya in magadhi.

(C) The substitute lor yavat is jama in apabhramsa.

(D)  The word nagaram is changed Lo nakaram in ardhamagadhi.
(E) Inlervocalic ccha is changed Lo Sca in paisicl.
Choose the correct answer [rom the options given below :
(1)  (A), (B) and (C) only

(2) (B), (D) and (E) only

(3)  (A),(C) and (E) only

4) (C), (D) and (E) only

Options :

1.1

2.2

3.3
4.4

Question Number : 109 Question Id : 5330728044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) U H U9 % a5t 29 & 946 a e
(B) WA H wRfyes o =1 ufteds 1 6 S
(C) =799 H I ve8 ok forw S oh1 #7169 ©
(D) ST H AR 9158 1 qiEdd AR H il © |
(B) Yot ¥ erfe =3 o afitady v | g 2
= feu fasredl § | W& S T4 Hi6
(1) %A (A), (B) 3 (C)
(2) ad (B), (D) 3R (E)
(3) ad (A), (C) 3 (E)
4) FIA (C), (D) IR (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330728045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the lollowing and choose the correct slalements :

(A) The word grisma is changed to gisma in magadhi.
(B) The word vasatih is changed to vasahi in maharastri.
(C) The substitute lor garjati is ghudakkai in apabhramsa.
(D) The word sinalam is used [or snialam in Saurseni.

(E) The word ahakkhaya is used lor yathdkhyita in ardhamagadhi.
Choose the correct answer [rom the options given below :
(1) (A). (C)and (D) only

(2) (B), (C) and (E) only

(3)  (B), (D) and (E) only

4) (C), (D) and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 110 Question Id : 5330728045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) TR H e ez 1 aREdd e o aan e
(B) WeRTel ¥ aqfd: wsg %1 IRadd awel v H 8l ¢
(C)  ayw ¥ Teifa 3 fou Jeaes = SR €
(D) A o T faard =61 v oieaHt o 2 2
(B) el § Aemerd veg o fou steaam vse =1 w2 8 €1
9 fou foeredi & & W& I 1 999 FI9Q
(1) 3Fad (A), (C) 3 D)
(2) Had (B), (C) 3N (E)
(3) ad (B), (D) 3N (F)
4) FIA (C), (D) IR (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330728046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the lollowing and choose the correct slalements :

(A)  Author of the dhavalatiki is virsenacarya

(B) Niyadhammakahio is divided into 36 chapters

(C) The narrative ol ambadaparivrajakais in the aupapatika stitra
(D) The code of conduct for house holder is described in Miulacara
(E) The Author ol the nigitha bhisya is samghadasgani

Choose the correct answer [rom the options given below :

(1) (A}, (C)and (D) only

(2)  (A). (C)and (E) only

(3) (B), (C) and (D) only

4) (C), (D) and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 111 Question Id : 5330728046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freafafiaa wuHl #1 9fen S §el F2H 1 =g Hifog |
(A)  YFARE * = A €

(B) A1 36 AHTA H G99 T

(C)  sftoarfas g3 avas uiares # T ¥
(D) VAR H g1l & SR 6 994 ¢ |

(B) Treftg arsy & <=1 gemmEmio g1

9 fou foeredi & & W& I 1 999 FI9Q
(1) 3Fad (A), (C) 3 D)

(2) A (A), (C) 3R ()

(3) ad (B), (C) 3 (D)

4) TS (C). (D) 3R (EB)

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330728047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose correcl option :
(A) kumaravilacariyam is the text ol apabhramsa.

(B) lilavaikaha is the narrative ol divine human characters
(C) gahasattasalis an anthology

(D) kamsavaho is wrilten by ramapanivada

(E) Usaniraddham is composed by nayacandra

Choose the correct answer [rom the options given below :
(1) (A), (B) and (C) only

(2) (A), (B)and (D) only

(3) (B), (C) and (D) only

4) (C), (D) and (E) only

Options :

1.1

2.2

3.3
4.4

Question Number : 112 Question Id : 5330728047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) FHREERE S99 F = ©
(B) Tciresahel Teearrgl e 2|
(C)  TITeITTs Hakieh A & |
(D) THUTorErE 9 FHEee =
(B) ‘Iuifregy e g = €
9 feu foeredi & & W& I 1 999 FI9C
(1) <& (A), (B) 3R (C)
(2) Fad (A). (B) 3R D)
(3) ad (B), (C) 3 (D)
4) TS (C). (D) 3R (EB)

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330728048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correcl oplion :
(A) Setubandha is divided into a§vasa.

(B) Napapancamikahais the creation ol vakpatirdja.

(C) Gaudavahois historical epic.

(D) Hemacandrasuri is the poel ol lilavaikaha

(E) Grammatical characteristics have been deall with in the Kumaravalacariyam.
Choose the correct answer [rom the options given below :
(1) (A), (B) and (C) only

(2)  (A),(C) and (E) only

(3) (B), (C) and (D) only

4) (C), (D) and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 113 Question Id : 5330728048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) HIFH F1 HUTSH SAvErE | g3 ¢ |
(B)  UNUTY=rFeha] STearst &l =1 € |
(C) Tirea Ufeiae wershe € |
(D) EaEE % =i eaas g |
(BE) FAREEE H SHRR % S8 s/ 7Y |
= f2u faskedl § | W& S F94 Hi6
(1) <& (A), (B) 3R (C)
(2) FFd (A), (C) 3R ()
(3) @ad (B), (C) 3T (D)
4) FIE (C), (D) IR (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330728049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correcl oplion :
{A) The mrechakatikam is based upon the carudattam.
(B) Carudalta is the hero ol candaleha.

(C) Bhasanatakacakram was published in 1937 A.D.

(D) Singaramanjari is the creation ol ghanasyama.

(E)  Abhinavagupla has equated sattaka with natika.
Choose the correct answer [rom the options given below :
(1)  (A), (B) and (C) only

(2) (B), (C)and (D) only

(3) (A), (C) and (E) only

4) (C), (D) and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 5330728049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) W=ShicHh FMeT T TG 2|
(B) wCerl o ATTEF =eed € |
(C) I3k &1 Weh9H 1937 5. H gem #
(D) TERESH =A™ w6 WA 2
(B) &fSHanTa o Hgeh &1 e & GHH a1 T
9 fou foeredi § & W& I 1 999 FI9C
(1) <& (A), (B) 3R (C)
2) Fad (B), (C) 3R (D)
(3) Fad (A), (C) 3N ()
4) FIA (C), (D) IR (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330728050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correct option.
(A) The period ol sudraka is g century A.D.
(B) Nayacandramuni has crealed a sallaka.
(C) Rajasekhara has created the dnandasundari.
(D) sikhanda candra was a meritonous and dominant king.
(E) Manaveda is the hero ol candaleha saltaka.
Choose the correct answer [rom the options given below :
(1) (B),(D)and (E) only
(2) (A),(B)and (C) only
(3) (B), (C) and (D) only
4) (C), (D) and (E) only
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330728050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) YEF F GG S Tel ¥ |
(B) == HfH 9 Tk Hl T Fl T
(C) H<Het & T=aar TSET © |
(D) FerEve=s ol SR gardt T o
(B) ‘Hecrl’ 9o & TFE e
T feu fosedi o o Wal ST 1 999 HI90 ;
(1) ad (B), (D) 3 (E)
(2)  FFA (A), (B) 2N (C)
(3) FEd (B), (C) 3 (D)
4) FE (C), (D) ¥R (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330728051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correct oplion.

(A)  All the prakrit grammatical text have been written in Prakril.

(B) There are total twelve pariccheda in the Prakrit Prakisa.
(C) There period of Trivikrama is 7" century A.D.
(D) There are total eight chapters in the Siddhahemasabdanusasana.

(E)  Vararuci has not wrilten Sauraseni grammar.

Choose the correct answer [rom the options given below :
(1) (B) and (D) only
(2) (C)and (E) only
(3) (A)and (B) only
(4) (D) and (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330728051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1 e 9e et forehed =4 ¢
(A) | T A T Uia H fod 7 €
(B) Wighd WahI9l H Fed 9IRE IH=g €|
() Tl wi=m 7 ot
(D) fagewymeeTEs § %l § 1A T
(B) aEfa A Y 1 =k 78 faan €
= f2u faskedl § | W& S T4 Hie
(1) oad (B) 3R (D)
(2) % (C) 3 ()
(3) FHEA (A) R (B)
4) FAA (D) 3 (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330728052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and choose the correct statements :

(A) composer of the mahabandha is dcédrya Bhutabali
(B)  Story ol the Arjunamalakara is in antakrladasanga
(C)  Niryukti is generaly composed in verse

(D) There are 18 chaplers in Utlaradhyayansulra

(E) There are stories ol the code ol conducl [or Monk in upasakadasanga
Choose the correct answer [rom the options given below :
(1)  (A), (D)and (E) only

(2) (B).(C) and (D) only

(3)  (C), (D) and (E) only

4y (A).(B)and (C) only
Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 5330728052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) TEE F TAER = ygafd €

(B) SASITHIGIRR o1 el SHagaaai | I Bl 2 |
() Trdfam wmr: memes St #

(D) AU GAH 18 AT L |

() SURIFTNT § GIeam=r 1 Ul 2 |

9 feu foeredi & & W& I 1 999 FI9C

(1) oad (A), (D) 3 (B)

(2) Fad (B), (C) 3R (D)

(3) A (C), (D) R (B)

4) FEA (A), (B) 3R ()

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330728053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and choose the correct stalements.

(A) Author of dasavaikulikasutra is Sayyambhava

(B) There is a description ol 17 types of death in bhagavatiaridhana
(C)  Antakrladasangasutra is devided into 12 varga

(D) There are 20 chaplers in kasayapahuda

(E) Balavabodhais known as commentary composed in vernacular
Choose the correct answer [rom the options given below :

(1) (B),(C) and (D) only

(2) (C), (D) and (E) only

(3)  (A), (B) and (E) only

(4) (A}, (D)and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 5330728053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) TSI & Fal I B |

(B) WIS 3RS H |7 WehR & W07 =l o0 €|

(C)  Hagheeen g7 12 o7 # favaa |

(D) FHAEIEE H 20 HER € |

(B) crehTeT H Ifed SIe areiresry | 9 S S ©
= f2u faskedl § | W& ST T4 Hi6

(1) ad (B), (C) 3 (D)

(2) A (C), (D) 3N (E)

(3) ad (A), (B) 3 (F)

@) FEE (A), (D) ¥ (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330728054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following statements and choose the correct options :
(A)  Agdoka was the emperor ol magadha.

(B) Asoka and kharavela were real brothers.

(C) Kharavela inscription is in Sanskril.

(D) Kharavela was the emperor ol Kalinga.

(E)  Asokan inscriptions are in brahmi scripl.

Choose the correct answer [rom the options given below :
(1) (A), (B) and (C) only

(2) (B).(C) and (D) only

(3) (C), (D) and (E) only

(4) (A}, (D)and (E) only

Options :

1.1

2.2

3.3
4.4

Question Number : 119 Question Id : 5330728054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1 e o€ IR wel fasweg 94

(A) R T o G 1 |

(B) =9I o WRAS T 912 & |

(C) WA F Ao IoFa § €1
(D) RIS HfAT 1 U o |

(B) owie & afueng sl fafy & 21
9 fou foeredi § & W& I 1 999 FI9C
(1) <& (A), (B) 3R (C)

2) Fad (B), (C) 3R (D)

(3) @ad (C), (D) 3R (E)

4) FEA (A), (D) 3R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330728055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correct oplion :
(A) A pronoun can be used as an adjective.

(B) Nominative and accusative cases are used alike.

(C) Compound does not occur in Prakrit.

(D) Adjective is always used with noun.

(E) Kaneru is the illustration ol anaptyxix.

Choose the correct answer [rom the options given below :
(1)  (A), (B) and (C) only

(2) (B).(C) and (D) only

(3)  (A), (D)and (E) only

4) (C), (D) and (E) only

Options :

1.1

2.2

3.3
4.4

Question Number : 120 Question Id : 5330728055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) TR 1 T faseer o w9 H ot 9 g ¥
(B) W AR Tgdran favfamai we wwH yga 2l € |
(C) Fd ¥ A &l el & |

D) oo gea Ham % | SEa §

(E) % guieqe™ =l e |

= f2u faskedl § | W& S F94 Hi6

(1) <& (A), (B) 3R (C)

(2) FEA (B). (C) 3R (D)

(3) A (A), (D) 3 (E)

4) FIE (C), (D) IR (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330728056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following stalements and choose the correct oplion :
(A)  All the adverbs are indeclinables,
(B) Numerical words are nouns.
(C) Case-endings are seven in number.
(D) Pronouns are used instead of verb.
(E) Indiclinables denole some maltler.
Choose the correct answer [rom the options given below :
(1) (A), (B) and (C) only
(2) (B),(C)and (D) only
(3)  (A), (C)and (E) only
4) (C), (D) and (E) only
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330728056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) gt foren fodom s 2l 2

(B) HEATET v6E Gl & € |

() favfeaai ae 2 €1

(D) Fem TR 3 T W T 8§
(B) =799 foreit verel % ar<ieh 71l 2 © |
9 feu foeredi & & W& I 1 999 FI9C
(1) <& (A), (B) 3R (C)

(2) Fad (B), (C) 3R (D)

(3) Fad (A), (C) 3N ()

4) TS (C). (D) 3R (EB)

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330728057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following sentences and choose the correcl oplion :
(A) The sammaisuttam is divided into three kandas.

(B) ‘Duma-pupphiyi ajjhayvanam’ is the first chapter of the uttaradhyayansitra.
(C) ‘Satthaparinna’ is the [irst chapter of the acfiringasitra.
(D) Jnanadhikara is a part ol the pravacanasara.

(E)  Vinayasuyam is a chapler ol the dasavaikalika stra.
Choose the correct answer [rom the options given below :
(1) (C), (D) and (E) only

(2) (B), (D) and (E) only

(3) (A). (B)and (D) only

4) (A), (C)and (D) only
Options :

1.1

2.2

3.3
4.4

Question Number : 122 Question Id : 5330728057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) TmEgT o Fvel | fave ¥

(B) ‘TAYMFA - 3w’ SHUEIIA H H 9YY A T
(C) “‘Teugfroon’’ SRR A 1 YT STTTH T

(D) FTIERR Ja=HR &1 Teh 9F 8|

(B) Taumgs svsefasas &1 uF eeqe 2
9 feu foeredi & & W& I =1 999 FI9C
(1) & (O), (D) 3R (E)

(2) Fae (B), (D) 3R (B)

(3) ad (A), (B) 3 (D)

4) TS (A), (C) 3R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330728058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the lollowing statement and choose the correct oplion given below :
(A) The number ol mulasttra canons has been admitted to be six.
(B) Svayambhi has created paumacariyam in apabhramsa language.
(C) Touch, teste, smell, colour and voice have been said to be the characteristics ol pudgala in the pravacanasira.
(D)  *‘Caudasapuvvila - duvilasangi’” this word is the the ndyakumiracariu text.
(E)  “‘Santi pina pudho siyd'’ this maxim is quaoted [rom the dciringasutra.
Choose the correct answer [rom the options given below :
(1) (A} (D)and (E) only
(2) (C), (D) and (E) only
(3) (B),(C) and (D) only
4y (B), (D) and (E) only
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 5330728058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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freifera el =1 afew iR A= fau o uE faskeq 1 599 Fife :
(A) T TFTH 1 GEA 6 A e

(B) TEEY A STIYY W H ISHERE H = H T

(C) VEaTOR § wl, T, Ty, 9ui o7 veg 3 Ygrel 3 e e T T

@) ‘‘=eeuyfEe-gaeE’ 9% 98 HFHREE Fid W
(B) ' wfeamon geifaan’’ =78 93 SR 77 € 39Yq |

9 feu foeredi & & W& I 1 999 FI9C

(1) A (A), (D) 3 (E)

(2) FEA (C), (D) I (E)

(3) ad (B), (C) 3 (D)

4) FF4 (B), (D) 3R (F)

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 5330728059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the lollowing and choose correct option :

(A) Rama-marriage is described in setubandha.

(B) Meaning of the word vajja in vajjalaggam is group ol verses.
(C) Work of the vimalasiri is ‘paumacariu’

(D) Name of one character in the mracchakalikam is Sakara
(E) °"Halena viraiaim salarhkaranam gahanam

Choose the correct answer [rom the options given below :
(1) (B),(D)and (E) only

(2) (A),(B)and (C) only

(3) (C), (D) and (E) only

(4) (C) and (E) only
Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 5330728059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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01 oAl o ufgu IR 9@ faseg g
(A) HIFH Fed H TH-Toem 1 99H ¢ |
(B) ‘wrtrer’ H o= =1 a7ef e TyE € |
() ‘w=HERE’ faneaR #t W R

(D) ‘IR’ ATHE I TEseied | T

(B) ‘ereror fatgets, Wrefenrol e’ v Meresws #
= fou fasredl § | W& ST T4 Hie
(1) #ad (B), (D) 3N (E)

(2) %A (A), (B) 3R (C)

(3) A (C), (D) R (B)

4) FEA (C) IR (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330728060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following and choose the correct option :

(A) Vasantasena is the heroine of the mracchakatikam.

(B) Soyari dullaha honti ‘line is found in the Vajjalaggam.
(C) The samaraiccakaha is written in the fourth century A.D.
(D)  The author of the kuvalamalakahi is Pravarasena.

(E)  Svayambhi is a prakril poel of the third century A.D.
Choose the correct answer [rom the options given below :
(1) (A)and (B) only

(2) (B) and (C) only

(3) (D) and (E) only

(4) (A)and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 5330728060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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01 oAl o ufgu IR 9@ faseg g

(A) Heshicsh Sl G ST € |

(B) ‘HrEm geerel gifd e astrer 6 € |
(C) ‘THUEeRel’ Wi To wqd vraTet T g €
(D) YA | FaATHTAHE ol =T H 2
(E) g™ dadl sl & Wighd &fd €
= f2u faskedl § | W& S T4 Hie
(1) Fad (A) 37 (B)

(2) e (B) 3 (C)

(3) @ad (D) S (E)

(4) AT (A) I (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330728061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) aupapatikasitra (I)  Secondary Age
(B) angaagama (IT)  Secondary Age
(C) Vasudevahindi (ITT) Tertiary Age
(D) Paumacariu (TV) Primary Age

Choose the correct answer [rom the options given below :
(1) (A)-(IV), (B)-(IIT), (C)-(II), (D)-(I)
(2)  (A)-(ID, (B)-(IV), (C)-(I), (D)-(IIT)
(3)  (A)-(II), (B)-(II), (C)-(IV), (D)-(I)
4)  (A)-(V), (B)-(I), (C)-(II), (D)-(III)

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330728061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11
(A) iy @ g g

(B) & W an fedm 7
(C) =HeafeveEl (L) gerd 7
(D) YSHEE (IV) 9 g7
= f2u faskedl § | W& ST T4 Hie

(1) (A)-(IV), (B)-(II), (C)-(II), (D)-(I)
(2)  (A)-aD, (B)»-(IV), (C)-(D, (D)-(IID)
(3)  (A)-(ID), (B)-(D), (C)-IV), (D)-(I)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(IIT)

Options :

1.1

2.2

3.3
4.4

Question Number : 127 Question Id : 5330728062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) Sauraseni (I)  gantina
(B) Pai$aci (IT)  kattu
(C) Apabhramsa (IIT) bhodupa
(D)  Aradhamagadhi (IV) deppinu

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(III), (C)-(I}). (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(IV), (D)-(I)
3y  (A)-(IV), (B)-(IID), (C)-(IT), (D)-(I)
(4)  (A)-(II), B)-AV), (C)-(I), (D)-(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 5330728062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) SGEAT M T
(B) =R an #
(C) SIY™ (1) g
(D) ST vy <feoy
= fou faskedl § | W& ST T4 Hie

(1y  (A)ID, (B)}-(ID), (C)-(T), (D)}-(IV)
(2)  (A)-(ID), (B)-(D), (C)-(IV), (D)-(1I)
(3)  (A)-0V), (B)-(ID), (O)-(D), (D)-(D)
(4)  (A)-(II), (B)-AV), (C)-(D), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 128 Question Id : 5330728063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) Mahibandha Iy  Sivarya
(B) Damsanapahuda (IT) Vatiakera
(C) Mulacara (IT1) Kundakundacarya
(D) Bhagavatiaridhana (IV) Bhatabali

Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(IV), (C)-(ID), (D)-(I)
(2)  (A)-(D, (B)-(I). (C)-(TV), (D)-(IIT)
(3y  (A)-(IV), (B)-(IID), (C)-(IT), (D)-(I)
(4)  (A)-(II), B)-AV), (C)-(I), (D)-(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 5330728063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) HEEH 1 o
(B) THUMEE an gt
(C) HeATER (1) FearEmd
(D) STal STRIEA av) Yaafa
= f2u faskedl § | W& ST T4 Hie

(1)  (A)-(III), (B)-(AV), (C)-(II), (D)-(I)
2)  (A)RID, (B}, (C)-V), (D)-(III)
(3)  (A)-0V), (B)-(ID), (O)-(D), (D)-(D)

(4)  (A)-(III), (B)-(AV), (C)-(I), (D)-(II)
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330728064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - 1 List - 11
(A) vimalastri () dcarya nemicandra
(B) haribhadrastri (IT)  gunacadragani
(C) rayapacudarayacariyam (III) samardiccakaha
(D) pasanahacariyam (IV) paumacariyam

Choose the correct answer [rom the options given below :
(1) (A)-(IV), (B)-(IIT), (C)-(I), (D)~(ID)
(2)  (A)-(). (B)-(IT). (C)-(IID), (D)-(IV)
(3)  (A)-(ID, (B)-(IID), (CH(D), (D)}-(IV)
(4)  (A)-(II), B)-(D, (C)-IV), (D)}-(T)

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330728064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 W9 G - 1 e Fifse
T - 1 T - 10
(A) femegf M  oArErd AhEs
(B) ®RYEgR (1) TUrERETor
(C) TEIEETHARE (I1) HHUS=IFHE
(D) TR (IV) 93H=ERE
= f2u faskedl § | W& ST T4 Hie
() (A)-0V), B)-(1), (C)-1), MD)-(IT)
(2) (A, (B)(1D), (C)-(III), (D)-(IV)
(3)  (A)-ID, (B)}-(IID), (C)-(T), (D)-(IV)
(4) (A)-(IID), (B)-(II), (C)-(IV), (D)-(D)
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 5330728065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) avimiarakam (I)  sodraka
(B) malavikagnimitram (IT)  asvaghosa
(C) sardputraprakarapam (IIT) kalidasa
(D)  mrechakatikam (IV) bhasa

Choose the correct answer [rom the options given below :
(1) (A)»(), (B)-(II), (C)-(III), (D)-(IV)
(2)  (A)-(D, (B)-(I). (C)-(TV), (D)-(IIT)
(3) (A1), B)-(ID), (C)-(I), (D)}-(IV)
4)  (A)-IV), B)-II), (C)-(ID, (D)-(D

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330728065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 1 W9 G - 1 e Fifse
T - 1 T - 10
(A) AfTAREFH M  IEF
(B)  TTCTTorahTITATH= (1) ST
(C) TMRYTHRIIH (I11) kIfeTaTg
(D) H=IH(EHFH (Iv) o9
= f2u faskedl § | W& ST T4 Hie
() (A)»-@), B)ID, (C)-AI), (D)}-(V)
(2)  (A)-ID, (B)X-(D, (C)-(IV), (D)-(III)
(3) (A)-(IID), (B)-(1I), (C)-(1), (D)-(IV)
4)  (A)-(IV), (B)-(II), (C)-(ID), (D)-(I)
Options :
1.1
2.2

3.3
4.4

Question Number : 131 Question Id : 5330728066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - 1 List - I
(A) dohi (I 60
(B) gaha I 62
(C) caubola (T11) 48
(D) ghattd (Iv) 57

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-(II), (C)-(IV). (D)-(I)
(2)  (A)-(II), (B)-(IV). (C)-(I), (D)-(I)
(3)  (A)-(D), (B)-(ID), (C)-(III), (D)}-(IV)
4)  (A)-(IV), (B)-(I), (C)-(ID, (D)-(I1T)

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 5330728066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) TRl M 60
(B) @ an 62
(C) =Zde (1) 48
(D) oI avy 57
9 feu foeredi & 9 W& I 1 999 FI9C

(1) (A)-(ID), (B)-(IIT), (C)-(IV), (D)-(T)
(2)  (A)-(ID), (B)-(AV), (C)-(D), (D)-(1D)
(3)  (A)-(D), (B)-(ID), (C)-(III), (D)}-(IV)
4)  (A)-(IV), (B)-(I). (C)~(1I), (D)-(ITI)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 5330728067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - 1 List - II
(A) sadbhasa candrika () vararucl
(B) siddhahemasabdanusasana (IT) canda
(C) prakraprakasa (ITT) laksmidhara
(D) prakrtalaksana (TV) hemacandra

Choose the correct answer from the options given below :
(1)  (A)-(), (B)-(II), (C)-(III}, (D)-(IV)
(2)  (A)-(IV), (B)-(II), (C)-(ID). (D)-(D
(3)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(ID)
@)  (A)-dD), (B)-(II), (C)-(IV), (D)-(D)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330728067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 T - 11

(A) TEgUM =HigeR Iy =
(B) Togew v oA (I =ve
(C) WTHATRIT (1) TAEHTER
(D)  WTFaetero aIv) T9Eg
= fou faskedl § | W& ST T4 Hie

(1) (A)-(), B)-(ID), (C)-(IIT), (D)-(IV)
(2)  (A)-0V), (B)-(ID), (CO)-(1D), (D)-(D)
(3)  (A)-(ID), (B)-AV), (C)-(I), (D)-(II)
4)  (A)-(D, (B)-(IIT), (C)-(IV), (D)~(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 133 Question Id : 5330728068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) sammam (I) " nominative singular
(B) tamha (IT)  accusative plural
(C) devo (ITT) indeclinable
(D)  wvacche (IV) ablative singular

Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)-(IV), (B)-(II), (C)-(ID). (D)-(D
(3)  (A)-(II), (B)-(ID), (C)-(I), (D)}-(IV)
)  (A)-(D, (B)-(IV), (C)-(II), (D)-(T)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330728068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) T (1) YAl Uhaad
(B) an  fedtan sgaee
(C) <l (III) 3197

(D) &= (IV) H=HT e
9 feu foeredi & 9 W& I 1 999 FI9C

(1)  (A)-(II), (B)-(IV), (C)-(I), (D)-(IT)
(2)  (A)-0V), (B)-(ID), (O)-(D), (D)-(D)
(3)  (A)-(ID), (B)-(D, (C)-(1), (D)-(IV)
4)  (A)-(D, (B)-(IV), (C)-(IID), (D)~(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 5330728069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - 1 List - II
(A) Ada- ndna- Paminam (I)  Aciranga siitra
(B) Khanam Janahi Pandie (IT) Uttaradhyavana sutra
(C) Dhammo mangalmukkittam (II) Pravacanasara
(D) Kanakundagam Caillanam (IV) Dasavaikalika sutra

Choose the correct answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)-1V), (B)-(III), (C)-(I), (D)-(IT)
(3)  (A)-(ID, (B)-(IV), (C)-(I), (D)-(III)
4)  (A)-(ID), (B)-(1D), (C)-(IV), (D)~(1I)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 5330728069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 T - 11

(A)  ATET — VT — 9H () =N g
(B) &9 STt 9fvew (1) ST o
(C) ¥ HiTeTHfaehs (I) Ya=TER

(D) FUEET Fgam (IV) SSToeIfees g
= f2u faskedl § | W& ST T4 Hie

(1)  (A)-(II), (B)-(IV), (C)-(I), (D)-(IT)
(2)  (A)-(IV), (B)-(ID), (C)-(T), (D)-(1D)
(3)  (A)-(D, (B)-(IV), (C)-(I), (D)-(I1I)
(4)  (A)-(IID), (B)-(I), (C)-(IV), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 5330728070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - 1 List - II
(A)  Setubandha (I)  Eight century c.e.
(B) Gihasatasai (IT) Twenty lirst century c.e.
(C) Samardiccakaha (ITT)  Filth century c.e.
(D) Viragaselu (TV) Firsl century c.e.

Choose the correct answer [rom the options given below :
(1) (A, (B)-(II), (C)-(II), (D)-(IV)
(2)  (A)-(II), (B)-(IV). (C)-(I), (D)-(I)
3y (A)-(ID), (B)-(D), (C)-(IV), (D)-(I1I)
(4)  (A)-(IV), (B)-(I), (C)-(III), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 5330728070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) HgEH (1) Sl el .
(B) TIRIETHS (1) SFFES Yl 2.
(C) THIE=TFel (1) = gt €.
(D) fommag (IV) Ve vrarssy €.
= fou faskedl § | W& ST T4 Hie

(1y (A, (B)-(II), (O)-(I), (D)}-(IV)
(2)  (A)-ID, (B)-AV), (C)-(I), (D)-(ID)
(3)  (A)-aD, (B)-(I), (C)-(IV), (D)-(III)
4)  (A)-IV), (B)-(ID), (C)-(IID), (D)~(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 136 Question Id : 5330728071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) nammayasundarikaha (I)  laksamanagani
(B) singaramanjari (IT) devendrasiini
(C) supasanihacariyam (IIT) mahendrasin
(D)  sudamsandcariyam (TV) wvisvesvara

Choose the correct answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)-(). (B)-(IT). (C)-(IID), (D)-(IV)
3y (A-(ID), (B)-(D), (C)-(IV), (D)-(I1I)
4)  (A)-IV), B)-II), (C)-(ID, (D)-(D

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 5330728071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el - 1 W g - 11 e i
gt -1 et - 11
(A) TR () A

(B) TS 1) TE=gR
(C) FuHIREERE () He=gR
(D) GEHUEE av) favEven
i feu foeredi & | WE 3T F1 =T HifoT

(1)  (A)-(II), (B)-(IV), (C)-(I), (D)-(IT)
(2)  (A)-), (B)-(ID), (C)y-(1D), (D)-(IV)
(3)  (A)-aD, (B)-(I), (C)-(IV), (D)-(IID)
4)  (A)-(IV), (B)-(IID), (C)-(ID), (D)-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 5330728072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Maitch List - I with List - IL
List - 1 List - II
(A) Magadhanam vipulam bhayam janeto (I)  Girandra inscription
(B) rahutilao padiharo asi (II) Kharavela
(C) iyam dhammalipi devanam priyena (ITN)  Ghatiyila
(D)  siSuniga vamsi (IV) Hathi Gumpha inscription
Choose the correct answer [rom the options given below :
(1) (A)-(IV), (B)-(II), (C)-(D), (D)-(II)
(2)  (A)-(). (B)(II). (C)-(III). (D)-(IV)
(3)  (A-(ID, (B)}-(IID), (C(IV), (D)-(I)
4)  (A)-(ID), B)-AV), (C)-(I), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 5330728072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
T - 1 T - 10

(A) FTEE fage wd S 1 frEr afyerm
(B) Yefaaen ufesr enfa I @REd

(C) =4 wywfafy gam fem () =ifear

(D) TryErEh (IV) &Il T sAfvera
= fou faskedl § | W& ST T4 Hie

(1) (A)-(IV), (B)-(II), (C)-(), (D)-(II)
(2)  (A)-(0), B)-(ID), (Cy-(ID), (D)-(IV)
(3)  (A)-aD, (B)-(ID, (C)-IV), (D)-(D)
(4)  (A)-(II), (B)-AV), (C)-(D), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 5330728073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A)  Prakrta rupavatara (I)  Rsiputra
(B) Desinamamala (IT) Nunditadhya
(C) Gahalakkhana (TIIT) Simharija
(D) Nimitlasastra (IV) Hemacandracarya

Choose the correct answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(ID), (D)-(I)
(2)  (A)-1V), (B)-(III), (C)-(IT). (D)-(T)
3y (A-(ID), (B)-(D), (C)-(IV), (D)-(I1I)
(4)  (A)-(IV), (B)-(I), (C)-(IT), (D)-(III)

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 5330728073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) HTEHT TAEAR M R
(B)  SSf=THHTE an Hfeaes
(C)  TTRTeTeRET (any  fHst=
D) TAforaeme (1v) eH=SEHE
9 feu foeredi & 9 W& I 1 999 FI9C

(1y  (A)-IID, (B)-(AV), (C)-(I), (D)-(D)
(2)  (A)-0V), (B)-(ID), (O)-(D), (D)-(D)
(3)  (A)-aD, (B)-(I), (C)-(IV), (D)-(IID)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(IIT)

Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 5330728074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) dAcarfingasiitra (1) saurasent
(B) kuvalayamalikaha (IT)  apabhramsa
(C) paumacariu (IT1) ardhamagadhi
(D) pravacanasara (TV) maharastri

Choose the correct answer [rom the options given below :
(1) (A)-(II), (B)-(IV), (C)-(ID), (D)-(I)
(2)  (A)-(). (B)-(IT). (C)-(IID), (D)-(IV)
(3)  (A)-(ID), (B)-(III), (C)-(I), (D)-(IV)
4)  (A)-IV), B)-II), (C)-(ID, (D)-(D

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 5330728074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A)  HTENTHA 1M SR
(B) FECTAHTCIFRE] D) YW
(C) YIANS (1) STHmme
(D) WAEER (IV) WeRTE!
= f2u faskedl § | W& ST T4 Hie

(1y  (A)-IID, (B)-(AV), (C)-(I), (D)-(D)
(2)  (A)-), (B)-(ID), (C)y-(1D), (D)-(IV)
(3)  (A)-aD, (B)}-(ID, (C)-(1), (D)-(IV)
4)  (A)-(IV), (B)-(IID), (C)-(ID), (D)-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 5330728075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
(A) agmSarma (I)  Kuvalayamalakaha
(B) wvicaksapa (IT)  Mrcchakatikam
(C) mayaditya (ITT) Samardiccakaha
(D) Sakara (1V) Karptiramanjari

Choose the correct answer [rom the options given below :
(1) (A, (B)-(II), (C)-(II), (D)-(IV)
(2)  (A)-(IV), (B)-(I), (C)~(TII), (D)-(IT)
(3)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(ID)
@)  (A)-dD), (B)-(II), (C)-(IV), (D)-(D)

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5330728075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eIt - 1 T R - 1 e Fifee
Tt - 1 Tt - 11

(A) Aol (1) FeATHTARE]

(B) fa=amom aIn) YeSHfesy
(C) WA (I11) TEE=%al

(D) IR (IV) Y
= fou fased o ¥ WE SW &1 999 Fifen
(1y (A, (B)-(IID), (C)-(IT), (D)-(IV)
(2)  (A)-IV), (B)-(I), (C)~(III), (D)-(II)
(3) (A0, (B)-(IV), (C)-(I), (D)-(1I)
4)  (A)-(ID), (B)-(II), (C)-(IV), (D)-(D)
Options :
1.1
2.2
3.3
4.4

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Id : 5330728076 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)
Question Label : Comprehension

2
533072318
No

Read the following passage and answer the questions given below :

Haum kahaum kavvau nindantu pisuna;
Vannantu suyana vipphurivavayana.
Dujjana sajjanahu Sahau ehu;

Sihi uphau siyalu hoi mehu.

Bho nisuni nanna kulakamalastira;
Surasiharidhira padivannasiira.

Jina bhniu anantananta gayanu,
Taho majjhi Parithiu tivihu bhuanu.
Pahilau mallaya sankisu dittha,
biyau Kulisovamu nsihim sitthu.
Taiyau muingasannihu kahanti,
Arahanta aruba bhanu kim rahanti.

Sub questions

Question Number : 141 Question Id : 5330728077 Question Type
Correct Marks : 2 Wrong Marks : 0
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The word ‘risihim’ used in the verses is in this case ending :
(1)  instrumental singular
(2) instrumental plural

(3)  ablative plural

(4) locative singular

Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 5330728078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jina in the verses has delined the space as :
(1)  thunderboll

(2)  infinite

(3)  aruha

(4) drum

Options :

1.1

2.2

3.3
4.4

Question Number : 143 Question Id : 5330728079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This language is used in verses :
(1) Pah

(2)  Paisici

(3) Magadhi

(4)  Apabhramsa

Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 5330728080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According the paragraph the simile [or minister Nanna is :
(1) like waler for fire

(2)  drum-like

(3) like the sun for lotus, the clan

(4) like a sneaker [or represents on
Options :

1.1

2.2
3.3
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4.4

Question Number : 145 Question Id : 5330728081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The object compared for the coldness of cloud and heat of fire, are :
(1) earth, sky

(2)  drum, thunderbolt

(3)  sun, moon

(4) gentleman, wicked

Options :
1.1
2.2
3.3
4.4

Question Id : 5330728076 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

areiiferfiae eramvor @t ufeu 2R e fou o wo=i & 3w =i
Fouid T e
FIIHSIITE HEls T,

fafe Sves Hiag % ¥E |

o1 forgfor omor TRy,
Ffaefieit gfgauogy|
faosfors syoraroid 3,
el wiver TRfzs fafag e |
Yfeets Hearaddg Tdg,
sftars spferdrem fifafe fag
FEq 7% 9] Tk @i |
Sub questions

Question Number : 141 Question Id : 5330728077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

vl o v ' fifafE ue o T favfs mwEm gen €
(1) g favfs wFa=m
2) g foufe sga=a
(3) doHl favfer, sgaeA
4) gaHl favfa wFaee

Options :
1.1
2.2
3.3
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4.4

Question Number : 142 Question Id : 5330728078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W= % TR 0T | STt 1 aeor fEe ®

(1) 44
(2) M
(3) %%
(4) Ham
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 5330728079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= W Uga MM A
(1) e

2) e

(3) T

(4) AYY
Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 5330728080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
ST T STTER HAl T H T8 IIH € ;
(1) & % foe </ & 99M
(2) HET % HHM
(3) FAEU FHA % ¢ A4 F GHA
4) Tr=1 %3 % faq foaeE 54 % 99
Options :
1.1
2.2

3.3
4.4

Question Number : 145 Question Id : 5330728081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y 1 Yiiqerar 23X &1 =t S0 o9k 3T §

(1) Yo, T
(2) W& AR a9
3) gd, ==
(4) =S, §3i"|
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072319
Question Shuffling Allowed : No

Question Id : 5330728082 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Tamhi bhanio ya pena janao - taya . aham turangame ghettiina dakkhindvaham vaccami, tattha bahuyam
attham vidhavemo, jena suham uvabhufijamo tti.bhaniyam ca se janaena - putlta! kettiena le atthena? atthi tuham
maha vi pulla - pavottanam pi viulo atthasaro. (@ desu kivananam, vibhayasu vanimayanam, dakkhesu bambhane;
karivesu devakule, khanesu talaya-bandhe., bandhavesu vavio, pilesu satlayire, payattesu arogga-silao, uddharesu
dina-vihale (. (d putta! alam desantara - gaehi.

Sub questions

Question Number : 146 Question Id : 5330728083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The words ‘desu kivananam’ in this passage denole -
(1)  donale money Lo poors
(2)  make the living beings learless
(3)  Commence the hospital
(4)  getthe temple constructed
Options :
1.1
2.2

3.3
4.4

Question Number : 147 Question Id : 5330728084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

This passage conlains the dialogue between these two persons :
(1) Lobhadaita and his [riend
(2) Mayaditya and manabhatta
(3)  Son and his lather
(4) Candasoma and his sister
Options :
1.1
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2.2
3.3
4.4

Question Number : 148 Question Id : 5330728085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The businessman in this passage, wanls lo go southern region [or this purpose ;
(1) lo earn money
(2) totravel
(3)  to meet his family
(4) Lo gel the temple constructed
Options :
1.1
2.2

3.3
4.4

Question Number : 149 Question Id : 5330728086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In this passage, the father of the business man prevented [rom going Lo southern region by saying this.
(1)  This journey is prove lo so many calamily
(2)  We have plenty ol wealth al home
(3) You are not [it for trade
(4)  Family members are nol physically healthy
Options :
1.1
2.2

3.3
4.4

Question Number : 150 Question Id : 5330728087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The words ‘*pdlesu sattiyare'" in this passage denote :
(1)  donate the brahmins
(2)  get the ponds and wells dug up
(3) take care of living - beings
(4)  save the poors and deprives
Options :
1.1
2.2

3.3
4.4

Question Id : 5330728082 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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apeiferfiam eraavor =t ufew 2i fow wq wosT & see Sifs

w1 9forafl g oo Sl - aE ! SR g R SfREOeE g | ae gl el famad s gE
FaYsml 1 9for = | Someo-gw | e § s 2 stfc 98 we o qa-vaant i fagen sreem) @
&g Toraromi, faswrg, i, saay dal, FRIEY Sag, |0 Tard-ad, seey arels, Teyg §9En,
IRy, AR HreAsl Sey Sro-fasdt fi | @ g9 o1 SHa-TufE |

Sub questions

Question Number : 146 Question Id : 5330728083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
TH FIO H ggE - o fFaomi’ ug o 1Y €
(1) T Sl 6l o=
(2) St = A se
(3) AT IS
(4) TET FFEnE
Options :
1.1
2.2

3.3
4.4

Question Number : 147 Question Id : 5330728084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T I H 39 S SAfaREl & S aiend g ¥
(1) oNYEa 2R 39 e

@) WEfee iR arYe

(3) Y 3R 35H fiar

4) Tegm 2 EH dfed

Options :

1.1

2.2

3.3
4.4

Question Number : 148 Question Id : 5330728085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
T IV W AR Sfevmmer SHfe ST =6l © ;
(1) 9 %A & fou
2) Y9 FH F e
(3) @91 9RER ¥ fiyer & fog
(4) Hfer sam F fau
Options :
1.1
2.2

3.3
4.4
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Question Number : 149 Question Id : 5330728086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TH HIAU H SAME & e 7 98 %8 o 39 feumay S § T
(1) THAANH GH aga 8|

2) 9 R W faga u= B

(3) H A =R A H waef 76 A

(4) UfERSH = @R 3 A

Options :

1.1

2.2

3.3
4.4

Question Number : 150 Question Id : 5330728087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5 I W U ~ ey g’ ue ot ¥
(1) ST = afeom &1

(2) TrE-FU Geana

(3) i = 9o

(4) EF-gfgdi 1 IGR FH

Options :
1.1
2.2
3.3
4.4
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